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Introduction

This textbook is written for students and teachers of IB DP Economics, or anyone with a general interest in economics. It provides readers with a clear and detailed introduction to economics, with real-world applications to engage learners. The ‘In co-operation with IB’ logo signifies the content in this textbook has been reviewed by the IB to ensure it fully aligns with the current IB curriculum and offers high-quality guidance and support for IB teaching and learning.

The textbook provides complete coverage of the new IB DP Economics syllabus (first teaching in August 2020). Differentiated content for SL and HL students is clearly identified. As the study of economics relies on the use of diagrams to facilitate analysis and discussion, this textbook also includes the use of clearly constructed and explained diagrams and visual graphs. Note: all currency values are expressed in US dollars ($) unless otherwise stated. Other features of this book to help students to consolidate and develop their understanding of economics include:


SYLLABUS CONTENT

The textbook follows the exact order of the contents of the IB Economics syllabus. At the beginning of each chapter is a list of the content to be covered, with all subsections clearly linked to the Assessment Objectives (AO), and showing the breadth and depth of teaching required. For example, AO4 skills highlight the specific sections of the syllabus that require students to make calculations or to construct relevant economic diagrams.




ATL ACTIVITY

Approaches to learning, including learning through inquiry, are integral to IB pedagogy. These ATL skills activities get students to critically think about real-world economics such as how and why large airline companies avoid price rigidity.




CASE STUDY

Real-world international examples and case studies are used to bring economics to life. Real-life examples are important to help students understand economics in the real world. These case studies provide context to improve understanding of the IB Economics syllabus content, such as providing context to explain why monopolists really do exist in the real world.




Common mistake

These boxes contain advice regarding some of the common misunderstandings and typical errors made by students so that you can avoid making such mistakes.




Real-world issue

Each chapter starts with one of the six real-world issues from the IB Economics syllabus (see page 7 of the syllabus guide). The course allows students to explore models and theories used in Economics, and to apply them using empirical data, through the examination of these real-world issues, which are split as follows:




	Microeconomics
	
●   Real-world issue 1 – How do consumers and producers make choices in trying to meet their economic objectives?

●   Real-world issue 2 – When are markets unable to satisfy important economic objectives and does government intervention help?





	Macroeconomics
	
●   Real-world issue 3 – Why does economic activity vary over time and why does this matter?

●   Real-world issue 4 – How do governments manage their economy and how effective are their policies?





	The global economy
	
●   Real-world issue 5 – Who are the winners and losers of the integration of the world’s economies?

●   Real-world issue 6 – Why is economic development uneven?











Chapter summary

At the end of each chapter there is a summary of the key points addressed to allow you to consolidate your learning.




Theory of Knowledge

Links to Theory of Knowledge allow you to develop critical thinking skills and deepen economic understanding by bringing discussions about the subject beyond the scope of the content of the curriculum.




Top tip!

These boxes include advice relating to the content being discussed and tips to help you retain the knowledge you need, including some useful acronyms. Read on to find out what these (and many others) mean: CELL (Chapter 1), PIGLETS (Chapter 11), BLADE (Chapter 14), BUDGIE (Chapter 23), EPIC (Chapter 25), CUPEL (Chapter 30), and GIST (Chapter 31).




WORKED EXAMPLE

These provide a step-by-step guide showing you how to answer the kind of questions that you might encounter in your studies.




PRACTICE QUESTION

Practice questions are included to allow you to check your understanding and prepare for the assessments. Some questions are in the style of exam questions – the particular paper they relate to is indicated in each case.




WISE ChoICES

Prompts and questions are provided in every chapter to challenge teachers and students to take on an authentic approach to concept-based learning and teaching through inquiry. While these questions are not explicitly asked in the final assessments, they promote discussion and develop critical thinking skills. After all, the teaching of economics is conceptually focused and grounded in real-world issues. The WISE ChoICES questions that appear throughout this textbook extend learning beyond the syllabus while remaining in line with IB pedagogy and enabling students to look at IB Economics from multiple perspectives and to deepen their level of understanding.

The nine key concepts that underpin the new economics course are: Scarcity, Choice, Efficiency, Equity, Economic well-being, Sustainability, Change, Interdependence and Intervention. We have developed an easy to remember acronym for the key concepts so that it is for ever at the forefront of learning: WISE ChoICES:

■   Well-being

■   Interdependence

■   Scarcity

■   Efficiency

■   Choice

■   Intervention

■   Change

■   Equity

■   Sustainability

The WISE ChoICES concepts are anchored in the content of economics – its theories, models, ideas and tools – and are given context through the study of real-world issues and examples. Connections are made and context is given to the concepts in our WISE ChoICES boxes, which appear throughout the topics and chapters.



Assessment guidance

Guidance relating to each of the three exam papers, the internal assessment and the extended essay can be accessed at hoddereducation.com/ib-extras. From there, you will need to navigate to the heading for Economics and find the document titled Assessment guidance.
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Introduction to economics






1 What is economics?




Conceptual understandings (WISE ChoICES)

●   Economics is a social science characterized by interdependence, which focuses on how people interact with each other to improve their economic well-being.

●   The economic world is dynamic in nature and constantly subject to change.

●   The central problems of economics are scarcity and choice, which forces societies to face opportunity costs and the challenge of sustainability.

●   Debates exist in economics regarding the potential conflicts between economic growth and equity and between free markets and government intervention.




SYLLABUS CONTENT

By the end of the chapter, you should be able to understand:

[image: ]   economics as a social science: the social nature of economics, the basis of the study of economics (microeconomics and macroeconomics) and introduction to the nine central concepts (WISE ChoICES) (AO2)

[image: ]   the problem of choice: factors of production, scarcity, unlimited human needs and wants to be met by limited resources, and scarcity and sustainability (AO2)

[image: ]   opportunity cost and free goods (AO2)

[image: ]   the basic economic questions and the means of answering the economic questions (AO2)

[image: ]   market versus government intervention and economic systems (AO2)

[image: ]   the production possibilities curve model (PPC) (AO2)

[image: ]   a PPC diagram illustrating choice and opportunity cost, unemployment of resources, actual growth, growth in production possibilities and increasing versus constant opportunity cost (AO4)

[image: ]   modelling of the economy through the circular flow of income model (AO2)

[image: ]   a circular flow of income diagram with leakages and injections (AO4).





Economics as a social science (AO2)



Economics is the study of how resources are allocated to satisfy the unlimited needs and wants of individuals, governments and firms in an economy. Economics is considered to be a social science because it examines the diverse social behaviours of individuals and societies in the allocation of scarce resources to meet the endless needs and wants of economic agents (decision makers in the economy, comprising consumers, employees, firms and governments). The choices made by economic agents can generate positive or negative outcomes, thereby affecting the relative well-being of individuals and societies. As a social science, economics demonstrates an appreciation of the impacts of economic activity on the behaviour and well-being of individuals, firms and governments. Examples include:


●   the problem of choice (Chapter 1)

●   behavioural economics (Chapter 6)

●   the role of government in economics (Chapter 10)





●   market failure (Chapters 11–14)

●   statistics to measure economic well-being (Chapter 16)

●   economics of inequality and poverty (Chapter 23)

●   sustainable development (Chapter 33).
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[image: ]   The social nature of economics



As a social science, economics examines the choices of consumers, producers and governments by using appropriate models and theories. While economics is often associated with facts and empirical evidence, it also examines the different social behaviours of individuals, firms and nations in different situations. One of the goals of the IB Economics course is for students to develop an understanding of the complexities and interdependence of economic activities in a continually and rapidly changing world.

The study of economics examines the prescribed WISE ChoICES concepts at three levels:

●   at the level of households and firms (or producers and consumers) in individual markets – studied under the topic of microeconomics

●   at the level of the government and the economy as a whole – studied under the topic of macroeconomics

●   at the level of international governments and the growing interdependence between countries through freer and fairer international trade and the international movement of labour and capital – studied under the topic of the global economy.

As a social science, economics enables IB students to examine models and theories using the following six real-world issues:

1   How do consumers and producers make choices in trying to meet their economic objectives?

2   When are markets unable to satisfy important economic objectives and does government intervention help?

3   Why does economic activity vary over time and why does this matter?

4   How do governments manage their economy and how effective are their policies?

5   Who are the winners and losers of the integration of the world’s economies?

6   Why is economic development uneven?

Source: IB Diploma Programme Economics guide, page 7


Top tip!

The IB Economics course requires you to focus on the prescribed six real-world issues by using the nine key concepts (see WISE ChoICES on the left). This enables students to develop the knowledge, skills, values and attitudes needed to become responsible and global citizens.
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Theory of Knowledge

Are there fundamental differences between economics and other disciplines or areas of knowledge? If so, are these differences more than just methodological?








[image: ]   The basis of the study of economics: microeconomics and macroeconomics



As core aspects of economics, both microeconomics and macroeconomics focus on the allocation of scarce resources in an efficient way. Resources are scarce because they are limited in supply. Both disciplines of economics are concerned with the notion of maximization: microeconomics is about profit maximization for individual firms and welfare maximization for consumers, while macroeconomics is about maximizing the economic goals of society as a whole, such as national income and economic growth.

Microeconomics is a category of economics concerned with the behaviour of individuals and firms in distinct markets and segments of the economy, rather than the operations of the economy as a whole. For example, microeconomics examines how prices are determined in particular markets and the determination of how best to allocate scarce resources given their different alternative uses. Much of microeconomics assumes rational economic behaviour and the decisions of individual consumers and producers, which would ultimately lead to scarce resources being allocated efficiently.

By contrast, macroeconomics examines the operations of the economy as a whole. It looks at aggregate variables, such as national output. For example, this will include looking at the causes and consequences of short run fluctuations in economic activity (known as the business cycle) and what determines long run economic growth and development. Macroeconomics considers how the economy is affected by unemployment (people who are willing to work but are unable to find work), inflation (an increase in the general price level) and the distribution of income and wealth. Hence, macroeconomics deals with broad economic issues and topics, based on the decisions made by governments and countries.
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There is far less debate about the basic principles of microeconomics, such as the law of demand (see Chapter 3) or how changes in the level of real income affect (people’s income after adjusting for inflation or changes in the general price level) consumer demand for goods and services (see Chapter 8). By contrast, there is far less consensus when studying macroeconomics, with its different schools of thought, such as Keynesians and monetarists (see Chapter 2). In addition, macroeconomics has greater emphasis on empirical data or key economic indicators, such as national income statistics (see Chapter 16), inflation and unemployment (both covered in Chapter 19). In addition, microeconomics examines the actions and decisions of economic agents in individual markets as part of the domestic economy, whereas macroeconomics considers outcomes on national, regional and global scales.





[image: ]   Introduction to the nine central concepts (WISE ChoICES)
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ATL ACTIVITY 1.1

Investigate how and why concept based learning (CBL) may be deemed to be a better way for you to understand every day economic problems and real-world issues.




As part of the IB’s overarching pedagogy of concept-based learning (CBL), the economics syllabus incorporates the use of nine concepts: scarcity, choice, efficiency, equity, economic well-being, sustainability, change, interdependence and intervention. CBL, as defined by education consultant Dr H Lynn Erickson, is a three-dimensional model that frames facts (content) and skills with concepts of the IB Economics course. The rigours of the economics course create two approaches to teaching and learning: either students can be told what they need to know (based on factual knowledge and skills in traditional economics) or teachers can get their students excited enough to discover and deepen their understanding of economics for themselves. The IB Economics syllabus (first examinations 2022) emphasizes the teaching of economics being conceptually focused, and grounded in real-world issues. Essentially, a conceptually focused approach to teaching and learning is core to the discipline of IB Economics. It is also explicitly examined in the Internal Assessments (for both SL and HL students).

The authors and publisher have constructed a mnemonic that will help you to think about concepts in the study of IB Economics: WISE ChoICES (Figure 1.5).


Theory of Knowledge

Economic theory suggests that the material well-being of individuals and societies is directly and best related to the quantity of goods and services available to people. To what extent is economic well-being a true indication of people’s psychological well-being? How do consumers make choices in trying to meet their economic objectives?
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Concept-based learning in IB Economics uses the triangle model, which consists of the content of the syllabus, integrated with real-word issues to provide a context to the learning, and is embedded in concepts to transcend understanding across all aspects of the economics course. An example of a classroom activity that embraces these concepts (as building blocks for learning) might require you to to investigate how macroeconomic policy is influenced by WISE ChoICES: economic well-being, interdependence, scarcity, efficiency, choice, intervention, change, equity and sustainability for a country of your choice.

Concept-based learning is not about learning facts and figures in isolation. Instead, CBL is about encouraging students to:

●   think beyond the content (tools, theories and models) specified in the IB Economics syllabus

●   be active, curious and open-minded rather than passive learners

●   be inquirers who want to further their understanding and knowledge using real-world issues that they are interested in

●   make connections of knowledge in economics to the WISE ChoICES concepts (Well-being, Interdependence, Scarcity, Efficiency, Choice, Intervention, Change, Equity and Sustainability)

●   recognize the transferability of knowledge and skills in economics, and apply this to both familiar and unfamiliar situations

●   organize and make sense of their own learning (possibly using the WISE ChoICES framework)

●   think critically and creatively to solve problems

●   extend their knowledge to understanding, in a synergistic way – as Albert Einstein once said, ‘Any fool can know. The point is to understand.’

Refer to the Introduction for more details about the WISE ChoICES concepts and how these can be incorporated into the teaching and learning of economics.
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Theory of Knowledge

If people ‘know’ that smoking is bad for their health or that they should exercise more, what role do reason and intuition play in the understanding of real-world economics?




ATL ACTIVITY 1.2

Many hotels and restaurants offer all-you-can-eat buffets. With a partner, decide on the three most applicable WISE ChoICES concepts that apply to such economic activity. Be prepared to share your ideas and discussion points with the rest of the class.
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The problem of choice (AO2)



Central to the study of economics is the concept and problem of scarcity. In every country, resources are limited in supply so decisions have to be made by individuals, firms (businesses) and governments about how to allocate scarce resources to satisfy their unlimited needs and wants. As a result of scarcity, choices have to be made. This is known as the basic economic problem, which exists in every economy: how best to allocate scarce resources in order to satisfy people’s infinite needs and wants.

Needs are the necessities people must have in order to survive. This includes: food, water, shelter, clothing, warmth and sleep. Wants are desires, that is, things people would like to have or have more of. Wants are infinite (unlimited). There are several reasons for this, including:

●   It is human nature to want more things; once people have something, they want something else too.

●   Marketers use advertising and promotional techniques to inform and persuade customers to buy more.

●   Peer pressure and societal pressures cause people to buy what their friends, neighbours or other acquaintances have, so they do not feel left out or left behind.

●   Physical goods eventually need to be replaced or upgraded; for example, cars, mobile phones, furniture and clothes. Perishable products need to be replaced regularly; for example, food, flowers, tobacco products, medication and petrol. Services also need to be replenished; for example, haircuts, public transport and utility bills (for gas, water, telecommunications and electricity services).

However, the economic resources to fulfil unlimited wants and needs are finite (limited). This limits people’s options, so forces them to make economic choices.




[image: ]   Factors of production




Factors of production are the four categories of resources that are required to produce any good or service: land, labour, capital and entrepreneurship.

●   Land (or natural capital) refers to the natural resources used in the production process. Examples include crude oil, coal, water, wood, metal ores and agricultural products. Land can be further categorized as renewable and non-renewable resources. Renewable resources are those that can be used and replaced, such as fish stocks, water, forests and plants. Non-renewable resources are those that once used cannot be replaced, such as oil supplies, gold reserves, fossil fuels and metal ores.

●   Labour (or human capital) refers to the human resources required in the production process. This includes physical human effort and intellectual input from the workforce. Examples include the services of an accountant, barista, chef, doctor or estate agent.

●   Capital (or physical capital) refers to non-natural (manufactured) products used in the production process, such as machinery, tools, equipment and vehicles. Capital is used to facilitate production. For instance, infrastructure such as transportation and communications networks are vital for the growth and development of society.

●   Enterprise (or entrepreneurship) refers to the skills, creativity and risk-taking ability that a businesspersonrequires to successfully combine and manage the other three factors of production. The entrepreneur has two main functions: to manage the overall production process (of producing physical goods and/or providing intangible services), and to take overall responsibility for the profits or losses of the firm.

[image: ]

Consider the example below of the factors of production required to produce aluminium cans of Coca-Cola beverages:

●   Land: the natural resources required to make Coca-Cola, for example, sugar, water, carbon dioxide and caffeine.

●   Labour: people hired to work on the production lines, perform administrative tasks, promote Coca-Cola’s drinks to customers and to manage the company.

●   Capital: factory buildings, machinery, computers, tools, and trucks to transport the drinks to warehouses and retailers.

●   Enterprise: the risk-taking and business skills necessary to successfully organize the production and distribution processes, and to motivate employees so they work to the best of their ability, in the pursuit of profit for Coca-Cola’s shareholders (owners).


Theory of Knowledge

Karl Marx (1818–1883) claimed that labour is the most important factor of production. What do you think about this claim? What is the most ‘useful’ factor of production in today’s world. Does the answer depend on the period of time being referred to?




ATL ACTIVITY 1.3

Discuss the resources (factors of production) required to deliver an IB Economics lesson.
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Top tip!

The four factors of production can be remembered by using the acronym CELL: capital, enterprise, land and labour.



The rewards for the factors of production

As the factors of production are productive resources, each has a reward for its use in the production process:

●   The reward for land is called rent. Rental income or revenue comes from the ownership of land, paid by the users of the land resources.

●   The rewards for labour are wages and salaries. Wages are paid to workers on an hourly basis, such as those who earn a national minimum wage. Salaried workers are paid a fixed amount, usually paid per month.

●   The reward for capital is called interest. If the interest rate is low, it becomes more worthwhile for firms and households to borrow money for production and consumption purposes as the cost of borrowing money falls, all other factors remaining unchanged.

●   The reward for enterprise is called profit. This is the return for the entrepreneur’s business ideas and risk taking in starting up and running the organization. Profit is what remains after all costs of production have been accounted for, including payments to the other three factors of production.

Collectively, the four rewards for the factors of production are known as income (see Figure 1.10).
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Common mistake

‘Income refers to the money that labour receives for work.’

Students often refer to income as the money people receive from work. This is inaccurate because the reward for labour services is called ‘wages’ (although it can include ‘salaries’ too). The term ‘income’ refers to the collective rewards for all the factors of production, that is, the sum of rent, interest, profit and wages/salaries.




Common mistake

‘Land refers to the physical land used in the production process, such as farm or office land space.’

Students often refer to land as physical land used in the production process. This is incorrect because in economics, land refers to natural resources in the production process; for example, water, raw sugar and caffeine are some of the ingredients used to make Coca-Cola.






Common mistake

‘Labour refers to the number of workers used in the production process.’

Labour does not refer to the number of workers used in the production process. Labour refers to both the physical and mental human resources used in the production process, so it is more than just the physical number of workers.




Common mistake

‘Capital is the amount of money used in the production process.’

Capital is not the amount of money used in the production process. In economics, capital refers to all non-natural (human-made) resources used in the production process, such as machinery, tools, buildings and vehicles.







[image: ]   Scarcity



British economist Lionel Robbins (1932) defined economics in terms of scarcity as: ‘Economics is the science which studies human behaviour as a relationship between ends and scarce means which have alternative uses.’

The central purpose of economic activity is the production of goods and services to satisfy the needs and wants of individuals and societies. However, the fundamental economic problem faced by all countries is scarcity. Scarcity means there is a shortage of resources in the economy at any moment in time. Resources are scarce (finite or limited in supply) relative to the infinite (unlimited) needs and wants of individuals and societies for goods and services. The planet’s natural resources are finite in supply, so if economies use them continuously in an unsustainable way, they will eventually run out. Even free goods and natural resources can become scarce if they become over-consumed (see common pool resources in Chapter 11). Hence, rational economic choices need to be made when addressing the basic economic questions of what, how, and for whom production should take place.

Needs are the essential goods and services required for human survival. These include nutritional food, clean water, shelter (housing), protection (safety), clothing and access to healthcare and education. All individuals have a right to have these needs met as is stated in Articles 25 and 26 of the United Nations Universal Declaration of Human Rights, drafted in December 1948.

Article 25

Everyone has the right to a standard of living adequate for the health and well-being of himself and of his family, including food, clothing, housing and medical care and necessary social services, and the right to security in the event of unemployment, sickness, disability, widowhood, old age or other lack of livelihood in circumstances beyond his control.

Article 26

Everyone has the right to education. Education shall be free, at least in the elementary and fundamental stages. Elementary education shall be compulsory. Technical and professional education shall be made generally available and higher education shall be equally accessible to all on the basis of merit.

Source: Articles 25 and 26 of the United Nations Universal Declaration of Human Rights

Wants are goods and services that are not deemed to be necessary for survival but are human desires, that is, things we would like to have. Wants are unlimited as most people are rarely satisfied with what they have and are always striving for more. Wants are a matter of personal choice and part of human nature.

Goods are tangible (physical) items that can be produced, bought and sold. Examples include furniture, clothing, toothpaste and pencils. Services are intangible (non-physical) items provided by individuals and firms, and paid for by customers. Examples include haircuts, bus journeys, education, concerts, telephone calls and internet access. Collectively, goods and services are called products or economic goods. These resources are limited in supply (scarce) in relation to their demand and have economic value to society, so human effort is required to obtain such products and economic agents are willing to pay for them. As there is a degree of scarcity to all economic goods, the production and consumption of such products carries an opportunity cost. For example, the production of wheat may mean less land and other resources being available for the output of cotton.

Scarcity and sustainability are essential interlinking concepts in economics. There are several costs, including opportunity costs, associated with any economic activity. For example, economic growth has led to fresh air becoming an increasingly scarce resource owing to traffic congestion and pollution, thus making breathing increasingly difficult for many people. In many large cities, poor air quality has been associated with high rates of chronic health problems, diseases and deaths. In order to avoid or minimize these huge costs to society and to ensure economic growth is sustainable, government intervention is needed through regulation of economic activity and investments in green technologies.
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Renewable resources are not exempt from scarcity either. These are resources that can be used repeatedly and replenished naturally. Examples of renewable resources include fish stocks, cattle, water, natural oils, fruits and vegetables, timber, and renewable energy sources such as wind and hydroelectric power. Such resources can become irreplaceable if their usage rate exceeds that of their natural replenishment rate.

According to the most recent figures from the World Bank, in 2015, 3 billion people on the planet live on less than $2.50 per day, and more than 1.3 billion live in extreme poverty (less than $1.25 a day). These figures suggest that their basic human needs are not being met. By contrast, the 10 richest people on the planet have wealth equivalent to the poorest half of the world’s population! The study of economics can help to explain why this happens and offer possible solutions to the basic economic problem of scarcity and unlimited human needs and wants.

Hence, it is because of scarcity that economic agents need to make sensible choices. This is because every economy faces the basic problem of scarcity and choice. The study of economics helps us to understand the decisions that households, firms and governments make, given that there are never enough resources to address all the needs and desires of individuals and societies.





Top tip!

Scarcity is a relative concept, rather than an absolute one. For example, fresh water is extremely scarce in the middle of a desert but far less scarce in a rainforest or near the coast. Similarly, fresh air is relatively scarce in Beijing, Bangkok, New Delhi and Jakarta (some of the world’s most polluted cities) but less so in rural areas of Wales and New Zealand.




ATL ACTIVITY 1.4

Make a list of 10 scarce resources in the world. Compare your list with that of a partner to see how many similarities and differences you have.




ATL ACTIVITY 1.5

1   Make a list of your top 10 wants and needs.

2   Are there any ‘needs’ that you could actually survive without?

3   Are there any wants that might be considered as needs?

4   Identify a shortage of any good or service in your economy. Explain why the shortage has occurred.




Theory of Knowledge

Is the study of economics irrelevant in the absence of scarcity? Why does economic activity vary over time and why does this matter?




WISE ChoICES

The depletion of the world’s scarce resources is a growing and intensifying economic problem. Many fish stocks have collapsed, and deforestation threatens ecosystems and our natural environment. Discuss whether the drive for economic prosperity can ever preserve the Earth’s limited supply of natural resources so that economies can growth in a sustainable way to improve economic well-being.




WISE ChoICES

To what extent is intervention needed to ensure the economy grows in a sustainable way?







[image: ]   Opportunity cost



Opportunity cost refers to costs of an economic decision measured in terms of the best alternative choice forgone. In other words, it is the economic cost of choice. Owing to scarcity, there is always an opportunity cost when making an economic decision. For example, the opportunity cost of constructing a new airport is the other projects that could have been produced if the airport had not been built, such as the funds being spent on building roads, motorways, schools or hospitals.
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ATL ACTIVITY 1.6

Investigate how different businesses make use of opportunity cost for the customers waiting in long queues, such as at a supermarket, beauty salon or theme park.




Some examples of opportunity cost are illustrated below:

●   The opportunity cost of choosing to study IB Economics is another Individuals and societies subject you could be studying instead.

●   The opportunity cost of visiting the cinema on Saturday night could be the money you would have earned from a part-time job, instead of going to the cinema.

●   The opportunity cost of spending more money on national defence is using the same funds for other government priorities such as public housing for low-income families.

●   The opportunity cost of a school purchasing 100 laptops for use in classrooms might be the science equipment that could not be bought as a result.

●   The opportunity cost of going to university to earn a degree is the loss of income during that time if the student chose to work instead.

Economist Milton Friedman stated that ‘there’s no such thing as a free lunch’ (1975) to suggest that it is not possible to get something for nothing owing to the concept of opportunity cost. This is because whatever goods and services are provided, they must be paid for by someone. Therefore, opportunity cost directly influences the decisions made by consumers, workers, producers and governments. Referring to the basic economic problem, there are competing uses for the economy’s scarce resources. Thus, there is always an opportunity cost involved when allocating scarce resources, which helps economists to view the true costs of decision-making.


ATL ACTIVITY 1.7

1   Make a list of the goods and services provided by the public sector in your economy or a country of your choice.

2   Identify the goods and services that are free to individuals and those for which you have to pay.

3   List which products could be provided by a private sector firm as well as by the public (government) sector.

4   Compare and contrast the aims and objectives of a government-funded swimming pool and a private health and leisure club.




Theory of Knowledge

To what extent do you agree with the view that everything has a cost, but not necessarily a price? What does this say about the relationship between knowledge and language?




CASE STUDY

The hidden costs of ‘Gangnam Style’

The music video of ‘Gangnam Style’ was hugely popular when it was launched on YouTube. It became the first ever video to surpass 2,000,000,000 (2 billion) views on YouTube in June 2014. At 4:12 minutes, that equates to more than 140 million hours – or more than 16,000 years! By comparison, it took 50 million person-hours to build the supercarrier USS Gerald R. Ford  in 2013. The Empire State Building in Midtown Manhattan, New York, took ‘just’ 7 million person-hours to build. By the start of 2020, ‘Despacito’ by Luis Fonsi featuring Daddy Yankee was the most-viewed video on YouTube, with more than 6.5 billion views.

Adapted from The Economist, June 2014, and YouTube, January 2020




WORKED EXAMPLE

Suppose a firm can produce either 5,000 units of consumer goods plus 4,000 units of producer goods or 6,000 units of consumer goods plus 3,000 units of producer goods. Explain the opportunity cost of producing the extra 1,000 units of consumer goods.

[2 marks]

Solution

The firm gains 1,000 units of consumer goods (from 5,000 to 6,000) at the opportunity cost of 1,000 units of producer goods (from 4,000 to 3,000).




PAPER 2 AND 3 EXAM PRACTICE QUESTION 1.1

Consider the table below, which shows the maximum combination of consumer and producer goods in an economy:




	Consumer goods
	
	Producer goods





	100 units
	plus
	50 units



	  80 units
	plus
	60 units





Calculate the opportunity cost of one unit of producer goods in terms of units of consumer goods.

[2 marks]




PAPER 2 AND 3 EXAM PRACTICE QUESTION 1.2

A farmer has land on which carrots and corn are grown. The production possibilities are shown in the table below:




	Carrots (’000 kg)
	Corn (’000 kg)





	  2
	  4



	  6
	10



	10
	16



	14
	20





Calculate the farmer’s opportunity cost of producing 1 kilogram of carrots in terms of kilograms of corn.

[2 marks]



While the production and consumption of economic goods incur an opportunity cost, free goods are products with a natural abundance of supply and do not require any deliberate effort to obtain. Hence, people do not place a value on their production or consumption. Thus, free goods are not tradeable owing to their unlimited supply and the absence of demand. Examples include air, desert sand, seawater, airwaves, rainwater, sunlight and (to some extent) public domain web pages. There is no opportunity cost in the production or consumption of free goods.
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ATL ACTIVITY 1.8

Make a list of 10 goods that are limited in supply (economic goods) and a second list of goods that are unlimited in supply (free goods). How many goods can your classmates think of that are unlimited in supply?





Common mistake

‘Free goods are those provided by the government, without consumers having to pay for them, for example, public healthcare, street lighting, public roads and state education.’

This statement is incorrect as free goods are those that do not have an opportunity cost due to their naturally abundant supply. The examples provided by the student are all economic goods – even though the government provides these to the general public, there is an associated opportunity cost involved in the provision of these services. Furthermore, consumers may indirectly fund these products through the tax system.




ATL ACTIVITY 1.9

Is there anything that money cannot buy? According to some economists, money can buy anything – you just need to know where to shop! For example, some people argue that money cannot buy time, although those who are willing and able to pay can certainly save time. For example, theme parks such as Disneyland and Universal Studios offer ‘fast passes’ or ‘express passes’, which enable these customers to save time by not having to queue in line with visitors who hold ordinary entrance tickets.

Other examples of things that money cannot buy, apparently, include: health, happiness, intelligence, love and friendship. However, what economic arguments can you think of that suggest money can indeed buy these things?
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Theory of Knowledge

An underlying assumption in economics is that individuals, firms and governments make rational decisions and choose the option that gives them the greatest benefit.

Discuss how economists and policymakers might use intuition and reasoning to make the knowledge claim that they know what is best for individuals and societies.







[image: ]   The basic economic questions



The three basic economic questions addressed by an economy are:

1   What production should take place? This question is about deciding which goods and services should be provided in the economy at any moment in time. For example, is it better for the economy to have more roads and airports or to have more schools and hospitals? As resources are limited in supply, decision makers realize there is an opportunity cost in answering this question.

2   How should production take place? This question is about the methods and processes used to produce the goods and services desired by individuals and societies. For example, decision makers will have to decide which combination of factors of production (land, labour, capital and enterprise) should be used in the production process. The economy will also need to decide whether it is feasible to use capital-intensive technologies or whether there is there a preference for specialization of labour, and which raw materials should be used or should be imported for use in the production process.

3   For whom should production take place? This question is about which economic agents receive goods and services. For example, should any goods and services be provided free to everyone in society, irrespective of their willingness and ability to pay for these? Should the government provide healthcare services to everyone within the country such as non-taxpayers, asylum seekers, immigrants and overseas tourists? Or should goods and services be produced only for those who can afford to pay?

Firms and individuals contribute to economic activity in the private sector of the economy by producing goods and providing services to meet the needs and requirements of their customers. The aim of most private sector firms is to earn a profit from economic activity.


ATL ACTIVITY 1.10

Using the basic economic questions, investigate how these are relevant to three different contemporary economic problems or issues in your country or a country of your choice.




By contrast, the government produces or supplies certain goods and services in the public sector. For example, the government might provide education and public healthcare services for the general public. Its aim is not to earn a profit, but to provide essential goods and services to improve the economic well-being of society as a whole. All economic agents (governments, firms and individuals) produce and consume goods and services.



ATL ACTIVITY 1.11

Discuss how a private firm that produces running shoes (sneakers) would answer the three basic economic questions: What to produce? How to produce? For whom to produce?

[image: ]








[image: ]   Means of answering the economic questions



Intervention is a key theme and concept in economics, which examines the extent to which a government should get involved in the economy in order to address the fundamental economic questions of what, how and for whom production should take place. Economies can address the basic economic problem of scarcity and opportunity costs by using either market forces of demand and supply or government intervention, or a combination of the two methods.

The degree of government intervention in economic activity is determined by the economic system that is implemented in the country. An economic system describes the way in which an economy is organized and run, including alternative views on how resources are best allocated. The challenging decision is the extent to which a government should intervene in the economy or leave economic agents (households and firms) to operate independently. There are three types of economic system (see Figure 1.16).
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Free market economy

This economic system relies on the market forces of demand and supply to allocate scarce resources via the private sector of the economy. For example, an increase in the demand for a particular good or service will tend to cause an increase in price. Hence, in a free market economy there is minimal government intervention. According to The Heritage Foundation, based in Washington, Hong Kong has been ranked as the world’s freest economy since its annual rankings (see Table 1.1) were first published in 1995, although Singapore become the world’s freest economy in 2020.



ATL ACTIVITY 1.12

Choose a country that has gone through a transition from a planned economy to a market based economy (or other way around). What were the economic and social reasons for change?



■ Table 1.1 The world’s ‘freest’ economies, 2020




	Ranking
	Economy





	  1
	Singapore



	  2
	Hong Kong



	  3
	New Zealand



	  4
	Australia



	  5
	Switzerland



	  6
	Ireland



	  7
	United Kingdom



	  8
	Denmark



	  9
	Canada



	10
	Estonia





Source: The Heritage Foundation, https://www.heritage.org/index/ranking

According to The Heritage Foundation, there is a high correlation between a country’s level of economic freedom and its standard of living (see Chapter 19). Its research data suggests that free market economies substantially outperform others in terms of economic growth, healthcare, education, protection of the environment and the reduction of poverty.

Planned economy

In this economic system, the government (or public sector) allocates scarce resources. The planned economy (also known as the command economy) is often associated with communist or socialist economies that strive for social equality. Examples include North Korea, Venezuela, Cuba and the Republic of the Congo.

Mixed economy

As its name suggests, this economic system is a combination of the planned and market economic system, with some resources being owned and controlled by private individuals and firms while others are owned and controlled by the government in the public sector. The government intervenes in economic activity to correct perceived market imperfections and market failures (see Chapters 11–14). Examples of mixed economies include Belgium, France, Italy, Spain, Mexico and the Philippines.


Top tip!

Students often quote the USA as an example of a free market economic system. In reality, State and Federal governments get involved in providing some basic services. In effect, the USA is a mixed economic system but with a much larger private sector than many other nations. Hence, it is acceptable to consider the USA as a free market economy.




Theory of Knowledge

Adam Smith’s invisible hand

Adam Smith, often regarded as the Father of Economics, wrote about the ‘invisible hand’ in his book The Wealth of Nations (1776). He used this phrase to mean that incentives create efficiency gains in the economy, owing to consumers and producers acting in their own best interest. This assumes that individuals, firms and governments are rational decision makers.

How do consumers and producers make choices in trying to meet their economic objectives in a rational way?




WISE ChoICES

Discuss the extent to which governments should intervene in economic activity. How much choice, if any, should individuals have in such decision-making?





Top tip!

The WISE ChoICES concepts are integral to the IB Economics course, and appear throughout the syllabus, both explicitly and implicitly. For example, the concept of intervention appears throughout the course, providing opportunities for you to critically evaluate the balance between the case for government interference in markets and the case for market forces of the private sector to allocate resources.









The production possibility curve model (AO2, AO4)




The production possibility curve (PPC), also referred to as the production possibility frontier (PPF), is a diagrammatic representation of the maximum combination of two products (goods and services) that an economy can produce, when all its resources are used efficiently, per time period. Essentially, it shows the productive capacity of the economy at any moment in time.
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Figure 1.17 shows the production possibility curve for an economy. By operating at point X, the economy chooses to produce 0B units of producer goods and 0C units of consumer goods. Any point inside the curve suggests that not all resources are being utilized efficiently to achieve the potential output of the economy. Any point beyond the PPC is not attainable with the current level of resources and state of technology.

However, to be at a point on the production possibility curve, the following conditions must be met:

1   Full employment – all factors of production are fully utilized. In other words, there are no unemployed resources.

2   Efficiency – all resources (such as land, labour and capital) are put to their best use and there is no wastage in the production process. Hence, the most output is generated from the available resources of the economy.

[image: ]

In Figure 1.18, points A, D and B are on the PPC, so these represent the maximum capacity of the economy if all resources are used efficiently. Point E is beyond the PPC so cannot be reached at this moment in time. Point C indicates that the economy can increase output without incurring an opportunity cost if it moves towards point D, for example. This is because the economy would be able to produce more units of both goods and services, as it moves towards full capacity on the production possibility curve.

There are two main features when constructing a production possibility curve:

1   The PPC slopes downwards from left to right.

This shows that the economy must forgo a certain quantity of one product in order to gain more quantity of the other product. For example, in Figure 1.18, if the economy moves from point D on the PPC towards point B, the economy has to give up more units of goods (shown on the y-axis) to get additional units of services (shown along the x-axis).




2   The PPC is concave to the origin.

A production possibility curve is typically drawn concave to the origin. This is owing to the notion of increasing opportunity cost (see below). Essentially, as an economy has more of a particular product (such as consumer goods), it sacrifices more of the other product (such as capital goods), so the opportunity cost increases.



[image: ]   Assumptions of the model



Like any economic model, the PPC model is based on certain preconditions or assumptions. There are four main assumptions behind the PPC model.

●   Fixed production possibilities – The model assumes the economy only produces various combinations of two products, such as producer goods or consumer goods. Hence, the PPC is drawn as a two-dimensional diagram for ease of interpretation. In reality, this cannot represent the whole economy, but the assumption simplifies the workings of the market and it is impractical to take into account all production possibilities of all goods and services in the economy.

●   Scarcity – There is a limited and fixed amount of resources in the economy (land, labour, capital and entrepreneurship) at any moment in time. As there is a trade-off between the two products on a PPC diagram, this illustrates the concept of scarcity in economics.

●   Constant state of technology – The production techniques and technologies are assumed to be held constant because the economy has only a certain level of technology at any point in time. In reality, technology will improve over time, but the assumption makes it possible to analyse the consequences of any changes in output without the state of technology changing.

●   Efficiency – The model assumes that all resources are fully utilized in an efficient way. In other words, there is no waste in the production process. The efficient use of an economy’s scarce resources means that the maximum physical output of products is obtained from its fixed and limited resources. Note that this does not mean all the output is desired by consumers, only that the maximum amount of the goods and/or services is produced.





[image: ]   Increasing versus constant opportunity cost



At times, the production possibility curve is shown as a linear line (see Figure 1.19) rather than a curve concave to the origin. If the PPC is a straight downward sloping line, it means that the marginal rate of transformation (or the rate of substitution) between the two products in question is the same, so there is a constant opportunity cost. The marginal rate of transformation (MRT) is the gradient of the PPC, showing the opportunity cost of one product for another. A linear PPC suggests constant opportunity cost regardless of how much of each product is produced. While this is less realistic, it simplifies the idea behind the model and the opportunity cost of production.

Figure 1.19 shows the trade-off between work hours and leisure hours. Hence, the opportunity cost of working more hours is fewer leisure hours. As there are only 168 hours in a week, individuals choosing to increase their working hours from 35 to 40 hours sacrifice 5 hours of leisure (133 – 128 hours per week). Thus, the opportunity cost is constant at 1:1, so, the marginal rate of transformation in this case is 1.
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Most PPC diagrams show a curve that is concave to the origin (see Figure 1.20), thus demonstrating increasing opportunity cost as more of a product is produced. For example, if the economy moves from point A to B, it gains 15 units of food (55 – 40) but sacrifices 10 units of clothes (an opportunity cost ratio of 10:15 or 1:1.5). As it moves from point C to point D, again it sacrifices 10 units of clothes but gains only 5 units of food (95 – 90). Hence, the opportunity cost ratio changes to 10:5 or 1:0.5. Previously, the economy needed to give up only 1 unit of clothes to gain 1.5 units of food, but now giving up 1 unit of clothes gives the economy only an extra 0.5 units of food. Hence, there is increasing opportunity cost as more of a particular product is produced and less of the item is made available.
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Top tip!

Increasing opportunity cost can be observed by the tangent along the PPC, as shown by the gradient or the marginal rate of transformation of the PPC (Figure 1.21).
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Notice that the tangent at point A is flatter than at point B, and steeper still at point C. This illustrates the notion of increasing opportunity cost as more fruits need to be given up in order to produce the same additional units of vegetables as the economy moves along the x-axis.







[image: ]   Features of the model



The PPF model shows several distinct but interrelated features: opportunity cost, scarcity, choice, unemployment of resources, efficiency, actual growth and growth in production possibilities.

Opportunity cost

The PPC model assumes only two products are manufactured in different proportions, such as wheat and olive oil. The gradient of the PPC (the marginal rate of transformation) shows the opportunity cost of one product for another good or service. In Figure 1.22, if producers wish to increase production of olive oil from O1 to O2 then the amount of wheat produced will have to fall from W1 to W2. The opportunity cost of producing the extra O1 to O2 litres of olive oil is therefore W1 to W2 kilograms of wheat. In other words, the increased amount of olive oil is produced at the expense (opportunity cost) of wheat as the economy moves from point C to point D.
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Scarcity

The supply of a country’s factors of production are fixed because it has a limited amount of land, labour and capital, thereby limiting how much the economy can produce at any point in time. Scarcity is shown by the maximum values on the y-axis and x-axis in a PPC diagram (points A and B respectively in Figure 1.22) and the opportunity cost ratio of producing more of one product while sacrificing the output of the other good or service.

Choice

The PPC or production possibility frontier illustrates the issue and problem of choice. Any point along the PPC is a production possibility but choosing to produce more of one product (such as olive oil in Figure 1.22) means the indirect choice of less of the other product (such as wheat). In Figure 1.22, a movement along the PPC from point C to point D means the economy chooses to have more olive oil produced (from O1 to O2), but at the expense of fewer units of wheat (from W1 to W2). Governments also face a trade-off in their choice of how to use scarce resources and tax revenues. For example, if the government chooses to increase its spending on the military, then the opportunity cost will be less spending on another public service, such as healthcare or education.

Unemployment of resources

Recall that for a country to be operating on its PPC, two conditions need to be met: production is efficient and all resources are used. This means there is no unemployment of factors of production. Unemployment of resources is represented by all production possibilities within the PPC, such as point C in Figure 1.19. This is the result of resources being underutilized or not being used efficiently.

Efficiency

The PPC model demonstrates the concept of efficiency, in terms of how best to use scarce resources. Pareto efficiency (named after the Italian economist Vilfredo Pareto, 1848–1923) occurs when it is impossible to reallocate resources in such a way to make one party better off without making someone else worse off. For example, devoting more resources to produce capital goods for firms means fewer resources available to produce consumer goods for individuals and households. Pareto efficiency occurs at all points on a PPC.

Actual growth and growth in production possibilities

The PPC can shift outwards as a result of an increase in the productive capacity of the economy. This is the result of an increase in the quantity and/or quality of the economy’s productive resources, such as:

●   improved education and training of the workforce

●   innovation of new products and services

●   investments in research and development

●   the discovery of new resources or the reclamation of land

●   technological progress and improved production techniques

●   greater population growth and the influx of skilled migrant workers

●   freer and fairer international trade deals, which can lead to access to larger markets and more efficient production (see Chapter 30).
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For a country to shift its PPC outwards, such as shown in Figure 1.24, there must be economic growth (see Chapter 16), caused by an increase in the quantity and/or quality of productive resources of the country.

Figure 1.24 shows growth in production possibilities and actual growth. Growth in production possibilities is illustrated by moving towards the PPC, such as moving from point A to point B showing the economy is able to produce more output of consumer and capital products. However, actual growth is shown by an outward shift of the PPC, from PPC1 to PPC2, or shifting the economy’s production from point B to point C. Economies strive to increase their productivity capacity. For example, advancements in technology will result in higher productivity and potential output for an economy. This means that even with the same amount of factors of production, more can be produced, resulting in an outwards shift of the PPC. Essentially, growth in production possibilities is caused by increased productivity of existing resources, whereas actual growth is caused by an increase in the economy’s productive capacity.

By contrast, the PPC can shift inwards due to detrimental changes in the economy, such as a major natural disaster or war, which destroys a large proportion of the economy’s farmland, factories and infrastructure. In Figure 1.25, the PPC shifts inwards from PPC1 to PPC2, representing a decrease in the productive capacity of the economy.
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ATL ACTIVITY 1.13

Investigate the economic costs of a major natural disaster of the twenty-first century. Some suggestions include:

●   Hurricane Katrina in the Gulf Coast of the USA in 2005

●   the 2010 Haiti earthquake

●   the extensive bushfires across Australia in 2019–20.
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ATL ACTIVITY 1.14

For each of the scenarios below, use a different PPC diagram and appropriate labels for the axes to explain:

1   the idea of opportunity cost

2   the concept of allocative efficiency

3   the concept of unemployment

4   the concept of economic development

5   what happens to the economy if there is a major natural disaster.




Top tip!

You need to be aware of the significance of the location of production possibilities, and be able to explain points under, on and beyond a PPC. The key to the production points in a PPC diagram is outlined below:
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[image: ]   Point A – All resources are dedicated to the production of consumer products.

[image: ]   Point B – All resources are dedicated to the production of producer products.

[image: ]   Point C – y1 units of consumer products are produced along with x1 units of producer products.

[image: ]   Point D – y2 units of consumer products are produced along with x2 units of producer products.

[image: ]   Point E – This point is beyond the production possibility curve and lies outside the productive capacity of the economy, so it is currently unattainable.

[image: ]   Point F – This point is within the productive capacity of the economy, so the production of both consumer products and producer products can increase (towards point C or D, for example) without any opportunity cost as some factors of production are currently not being used.




PAPER 2 AND 3 EXAM PRACTICE QUESTION 1.3

Low-lying areas of Bangladesh are prone to flooding each year. Crops are lost and thousands of people lose their homes. During times of severe flooding, roads and railways are damaged and farmers find it impossible to transport their dwindled crops to market.




	a   Draw a relevant PPC diagram and explain the impact of flooding on the productive capacity of Bangladesh.

	[4 marks]



	b   On the diagram, draw and label a point where some of the factors of production will be idle.

	[1 mark]



	c   On the diagram, draw and label a point that is unattainable.

	[1 mark]








Top tip!

The PPC model is a very important one in the study of economics and can be applied in many areas of the discipline. Notice also that the features of the PPC model include several key WISE ChoICES concepts: scarcity, efficiency and choice. Although other concepts such as interdependence, change and economic well-being are not explicitly featured in this model, these concepts can also be seen in a PPC diagram.









Modelling the economy (AO2, AO4)





[image: ]   The circular flow of income model



As a social science, economics uses theories and models to explain the workings of an economy. One such model is the circular flow of income, which is used to explain how economic activity and national income are determined based on the interactions of economic decision makers.

Recall that income is the sum of the returns for use of the four factors of production:

●   the return (or income) for land = rent

●   the return for labour = wages and salaries

●   the return for capital = interest

●   the return for enterprise = profit

●   therefore, income = rent + wages and salaries + interest + profit.

The interdependencies of economic agents in the basic circular flow of income model can be illustrated in a diagram (see Figure 1.28).
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[image: ]   Interdependence between economic decision makers



The main economic agents (or economic decision makers) in an economy, as depicted in a circular flow of income diagram, are:

●   Households – Individual consumers provide their labour services to firms, in return for income. With this, households aim to maximize their utility (the degree of satisfaction from their purchases). Rational economic behaviour results in individuals pursuing the choice that gives them the most utility. For example, with $20, individuals might prefer to visit the cinema rather than to go bowling if watching the movie brings them a greater degree of satisfaction.

●   Firms – Businesses use factor of production to generate or supply the output of goods and services. Traditional economic theory assumes that firms aim to maximize profit. Profit is the reward to entrepreneurs for risk-taking in starting and running a business. In reality, not all firms operating in the private sector of the economy aim primarily for profit (such as charities and non-governmental organizations), but even these firms need to ensure they earn a surplus in order to keep their operations economically sustainable in the long run.

●   Government – It is assumed in economics that the government exists to maximize social welfare for the general public, irrespective of political beliefs. The government taxes households and firms (by use of both indirect and direct taxes) in order to raise tax revenues to fund government spending on goods and services for the public, irrespective of whether they are taxpayers or not.

A closed economy is part of the circular flow of income model comprising domestic economic decision makers. In the closed economy model, households supply factors of production (land, labour, capital and enterprise) to domestic firms in order to produce or supply output of goods and services. In return, firms provide factor incomes to households (rent, wages, interest and profit). With the income, households spend their money on goods and services produced by firms, thus creating expenditure revenue for firms. Hence, the income flow is numerically the same value as the expenditure flow and the output flow.




ATL ACTIVITY 1.15

Historically, there have been many nations that chose to be closed, like Japan between the 1600s and the 1850s, Spain in the 1940s and 1950s, and Albania in the late 1970s to mid-1980s. Are there any contemporary countries you regard as closed? What are the potential benefits and costs of having a closed economy?



An open economy is part of the circular flow of income model comprising domestic and foreign economic decision makers (households, firms, the government and the foreign sector). The foreign sector facilitates international trade (exports and imports). This model shows that not all income is spent on domestically produced goods and services. This is because some of the income may be taxed, saved, or spent on purchasing imported products (see Figure 1.29). Similarly, additional funds can be injected into the economy in the form of government spending, export earnings and investment expenditure.






[image: ]   Leakages and injections



The open economy of the circular flow of income model includes both leakages and injections. Leakages withdraw money from the economy whereas injections add money to the circular flow.

There are three categories of leakage (also known as withdrawals): savings (S), taxation (T) and import expenditure (M) as money leaves the circular flow to banks, the government and the foreign sector respectively. There are three types of injection: government spending (G), investment expenditure (I) and export earnings (X) as money enters the circular flow thereby stimulating economic activity. When there is national income equilibrium, the condition must hold: S + T + M = G + I + X.

With reference to Figure 1.29 below:

●   In the financial sector, savings (S) represent a withdrawal while investments (I) are injections.

●   In the government sector, taxes (T) represent a withdrawal from the circular flow, whereas government spending (G) is an injection.

●   Export earnings (X) represent an injection into the circular flow, whereas import expenditure (M) is a leakage.

●   The circular flow of income and expenditure will change based on the relative size of all withdrawals (W = S + T + M) and all injections (J = G + X + I) at any moment in time.

The model shows that the level of economic activity depends on the relative size of injections (J) and withdrawals (W). If W > J then economic activity declines, whereas economic activity increases if J > W.
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Top tip!

Through the skills of inquiry, you are expected to be able to evaluate and therefore appreciate both the values and limitations of economic models in explaining real-world economics. You can use the WISE ChoICES concepts in your discussions and explanations of real-world economic behaviour and outcomes.




WISE ChoICES

The circular flow model is a good example of the concept of interdependence between economic decision makers interacting and making choices in an economy. The actions of households, firms, the government, the financial sector and the foreign sector (foreign firms and households) can have profound implications on economic well-being. Can you provide examples to explain why this is the case?




Chapter summary

[image: ]   Economics is the study of how limited resources are allocated to satisfy the unlimited needs and wants of individuals, firms and the government.

[image: ]   Every economy faces the basic problem of scarcity and choice, which are two of the concepts at the heart of the study of economics. Choice is the result of scarcity in the world’s economies.

[image: ]   The basic economic problem is concerned with how to allocate scarce resources efficiently in order to satisfy people’s unlimited needs and desires.

[image: ]   Three fundamental questions arise from the basic economic problem: what, how and for whom production should take place?

[image: ]   Economic agents comprise individuals (households), businesses (firms) and governments.

[image: ]   Firms produce goods and services in the private sector, whereas the government operates in the public sector.

[image: ]   Goods are physical (tangible) items that can be produced, bought or sold. Services are non-physical (intangible) items that are provided by firms and paid for by customers.

[image: ]   Needs are the essential goods and services required for human survival. Wants are goods and services that are not necessary for survival but are human desires. The demand for wants is infinite.

[image: ]   Economic goods are limited in supply, whereas free goods are unlimited in supply so have no opportunity cost in terms of production and consumption.

[image: ]   The production possibility curve (PPC) is useful to demonstrate economic growth and opportunity cost.

[image: ]   For a country to be on its PPC requires two conditions to be met: all resources are used (that is, there is no unemployment of factors of production), and there is efficiency in the use of these resources (that is, factors of production are allocated to their best use/purpose).

[image: ]   Constant opportunity cost occurs when the PPC is linear.

[image: ]   Growth can be caused by increased productivity of existing resources, whereas actual growth is caused by an increase in productive capacity.

[image: ]   Factors of production (land, labour, capital and enterprise) are the resources needed to produce any good or service.

[image: ]   Land (natural capital) refers to the natural resources required in the production process; for example, oil, coal, water, wood, metal ores and agricultural products.

[image: ]   Labour (human capital) refers to the human resources required in the production process, in terms of both the mental (intellectual) and physical human effort.

[image: ]   Capital (physical capital) refers to the manufactured or non-natural resources required in the production process; for example, machinery, tools, equipment and vehicles.

[image: ]   Enterprise (entrepreneurship) refers to the skills a business owner requires to successfully combine and manage the other three factors of production.

[image: ]   The returns on the factors of production are collectively called ‘income’, and comprise rent (land), wages and salaries (labour), interest (capital) and profit (enterprise).

[image: ]   Geographical mobility of labour measures the willingness and ability of a person to relocate from one area to another for employment purposes.

[image: ]   Occupational mobility of labour measures the extent to which a person is able to switch to different jobs (occupations or careers).

[image: ]   The quantity and quality of factors of production will change if there is a change in the demand for and/or supply of land, labour, capital or enterprise.












2 How do economists approach the world?




Conceptual understandings (WISE ChoICES)

●   Economics is a social science characterized by interdependence, which focuses on how people interact with each other to improve their economic well-being.

●   The economic world is dynamic in nature and constantly subject to change.

●   The central problems of economics are scarcity and choice, which forces societies to face opportunity costs and the challenge of sustainability.

●   Debates exist in economics regarding the potential conflicts between economic growth and equity and between free markets and government intervention.




SYLLABUS CONTENT

By the end of the chapter, you should be able to understand:

[image: ]   economic methodology in terms of the role of positive economics: the use of logic, the use of hypotheses, models, theories, the ceteris paribus assumption, empirical evidence and refutation (AO2)

[image: ]   economic methodology in terms of the role of normative economics: value judgements in policymaking, and the meaning of equity and equality (AO2)

[image: ]   economic thought, including the origin and evolution of economic ideas in a historical context:

–   eighteenth century: the ideas of Adam Smith and laissez-faire economics (AO2)

–   nineteenth century: the basic ideas of classical microeconomics, the concept of the margin, Say’s law, and Marxist critique of classical economic thought (AO2)

–   twentieth century: the Keynesian revolution, the rise of macroeconomic policy, and the main ideas of the monetarist/new classical counter revolution (AO2)

–   twenty-first century: the growing role of behavioural economics, the growing awareness of interdependencies between the economy, society and environment, and the compelling reasons for moving towards a circular economy (AO2).





Economic methodology (AO2)



Economic methodology refers to the study of the processes, practices and principles in relation to the discipline of economics as a social science. It includes the models, theories and assumptions of underlying economic reasoning. It deals with what is and what is not economics. Although economics as an academic discipline goes back at least to the eighteenth century, the methodology of economics has evolved over time.

Economic methodology is concerned with three key aspects:

●   how economics functions

●   how it could function, and

●   how it should function.


This section of the IB Economics syllabus considers two main dimensions of how economists approach the world:

●   Economic methodology in terms of:

[image: ]   the role of positive (objective) economics, and

[image: ]   the role of normative (subjective) economics.

●   Economic schools of thought from the past several centuries, including:

[image: ]   eighteenth century: Adam Smith and laissez-faire economics

[image: ]   nineteenth century: Jean-Baptiste Say, Karl Marx and Classical economics

[image: ]   twentieth century: John Maynard Keynes, Monetarism and New Classical economics

[image: ]   twenty-first century: the growing role of behavioural economics; increasing awareness of the interdependencies that exist between the economy.

British philosopher and economist John Neville Keynes (1852–1949) categorized economic methodology as positive and normative economics. Positive economics is the study of what is and the way the economy actually works. Normative economics is the study of what should be and the way the economy ought to work. John Neville Keynes was the father of John Maynard Keynes (1883–1946) – see Economic Schools of Thought later in this chapter.


Theory of Knowledge

To what extent does the distinction between positive and normative statements exist in other academic disciplines and areas of knowledge?







The role of positive economics (AO2)



The methodology of positive economics was featured as the first essay in Milton Friedman’s book Essays in Positive Economics (1953), which explores John Neville Keynes’s distinction between positive and normative economics. Positive economics is the study of economics that is provable. This means factual statements about the economy or statements of ‘what is’. For example, unemployment in the economy will tend to increase if corporate taxes are continually raised as firms become unprofitable so will not need to hire so many employees. Positive economics relies on reasoning, logic and empirical evidence. Hence, such statements can be verified or refuted by referring to facts, evidence or further investigation.

Assuming all other things remain unchanged, the following are positive economic statements:

●   Scarcity is the foundation of the basic economic problem.

●   Factors of production are required to generate economic output.

●   Customers will buy more of a product if the price is reduced.

●   A fall in average incomes will lead to higher unemployment in the economy.

●   Increasing the national minimum wage will raise costs for businesses.

●   A reduction in income tax rates will create incentives for people to find employment.

●   A tax on plastic carrier bags will reduce the volume of plastic waste.

●   Greater spending on healthcare services will help to increase average life expectancy.

●   Pollution control is effective through an efficient system of penalties and fines.

●   Globalization creates more winners than losers.

●   Cutting interest rates is likely to increase consumption and investment expenditure, but can cause inflation in the economy.
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Top tip!

It is possible for a positive economic statement to be incorrect or inaccurate. The important thing to remember is that positive economics focuses on objective statements about ‘what is’ at any moment in time rather than ‘what should be’. So, such statements can be tested for truth.





[image: ]   The use of logic



Logic is integral to the study of positive economics. Logic refers to rationality and reasoning, rather than emotions or beliefs, in explaining economic phenomena and policymaking. For example, it is logical to assume that people will make rational choices based on the information available to them. It is also logical to assume that private sector firms act in their self-interest so most will aim to maximize profits.

Logic involves presenting and analysing facts and data as they are, in an objective, and often measurable, way. Logic enables economists to explain a chain of statements to deduce truth (based on facts and empirical evidence) regarding a hypothesis, model or theory. For example, if bad weather causes the cost of harvesting the tomatoes used to make Heinz tomato ketchup to increase, the following logical sequence of events is likely to take place:

1   The cost of producing Heinz tomato ketchup increases.

2   This reduces the ability and willingness of the firm to supply its product.

3   The subsequent fall in supply makes Heinz tomato ketchup more scarce.

4   This causes the price of Heinz tomato ketchup to increase.

5   Therefore, the quantity of Heinz tomato ketchup demanded by consumers will fall.

The above chain of logical events can be tested using empirical evidence to accept or refute the hypothesis, model or theory. Logic means none of the sequences above consider subjectivity or value judgements.

Milton Friedman, the American economist and winner of the Nobel Memorial Prize in Economic Sciences (1976), argued that economics should be free of subjectivism and value judgements for it to be respected as a science. He believed that objectivity, reasoning and logic should inform normative economics, such as whether to reduce progressive tax rates or to increase the national minimum wage. Friedman argued value judgements distort policymaking as predictions and decisions are based on opinions rather than facts about the economic consequences of different policies.
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Theory of Knowledge

Do religion and indigenous societies, as optional themes in Theory of Knowledge, have any role in the study of economics?




Theory of Knowledge

How do consumers and producers make economic choices based on faith as a form of knowledge?





Theory of Knowledge

‘As social beings, humans are never truly logical in their thinking or behaviour.’ To what extent do you agree with this statement?







[image: ]    The use of hypotheses, models and theories



In economics, a hypothesis is an assumption, notion or educated guess made before research has been conducted. Economists formulate a hypothesis, often based on an observation or idea that explains something. This enables economists to test the hypothesis in order to accept or refute the hypothesis, and to gain a clearer understanding and evaluation of economic behaviour. Two examples of hypotheses are:

●   ‘The introduction of a national minimum wage will improve the economy’ or phrased as a question: ‘To what extent will the introduction of a national minimum wage be good for the economy?’

●   ‘Men, on average, are paid more than women’ or phrased as a question: ‘Are men, on average, paid more than women?’

The hypothesis statement helps researchers to keep their investigation focused. Relevant data can then be collected to test the hypothesis to inform policy decision makers depending on whether the data prove the hypothesis or refutes it.

Hypotheses are classified as either alternative or null. The majority of hypotheses in economics are null hypotheses, which are assumed to be true (such as the example above about minimum wages). Any evidence that contradicts the null hypothesis is captured in the alternative hypothesis (such as ‘The introduction of a national minimum wage will not improve the economy’ or ‘On average, men are not paid more than women’). Hence, the alternative hypothesis is a direct contradiction of the null hypothesis. Either of these hypotheses can be used in economics to test a research question, an idea or a claim, using empirical evidence and data to provide a possible explanation to the phenomenon.

The process of hypothesis testing is shown below:

1   The null hypothesis is formulated and assumed to be true.

2   Research data are gathered to test the null hypothesis.

3   If the empirical evidence is consistent with the null hypothesis, it is considered to be true (although data that are subsequently available could still change this).

4   If the empirical evidence is not consistent with the null hypothesis, it is refuted (rejected) in favour of the alternative hypothesis.

A model occurs when a hypothesis has been repeatedly tested and proven or rejected. Models are only accepted by economists once they have been thoroughly tested and can be used to explain the real world. For example, the price mechanism as an economic model explains the allocation of the world’s scarce resources (see Chapter 5), using empirical evidence and data to explain resource allocation by creating signals and incentives to buyers and sellers in the market.



Theory of Knowledge

What assumptions do economists make when they apply economic hypotheses to the real world?





Theory of Knowledge

Given that economic theories do not show exactly what happens in the real world, how can we know if they are of any use or value? Refer to one of the six real-word issues (page v) in your response.




The word ‘theory’ comes from the Greek word ‘theorein’, which means ‘to look at’ or ‘to contemplate’. A theory is a broad generalization used to explain situations or scenarios already supported by economic evidence and data from economic models. For example, the theory of demand (see Chapter 3) generalizes that as the price of a product falls, the quantity demanded by consumers will increase. This theory has been repeatedly tested and is widely accepted so can be used to make predictions about economic behaviour. Economic theories are based on logic and backed by empirical evidence, using models to represent and analyse the complexities of a real phenomenon.

An economic hypothesis is accepted as a model once it has been tested enough times to confirm its validity (with sufficient empirical data and evidence) in successfully explaining a phenomenon. Similarly, an economic model becomes an accepted theory once it is sufficiently tested and confirmed to successfully explain the phenomenon.

Note: like any economic hypothesis, an economic model or theory can also be refuted after rigorous testing or when new evidence contradicts or invalidates the existing model or theory.

Hypotheses, models and theories are used in economics to explain:

●   relationships – such as the relationship between the changes in household income and the quantity of a product demanded or supplied (see Chapter 7).

●   cause and effect interactions – such as the impact of higher taxes or interest rates on the economy (see Chapter 17).

Friedman argued that for a hypothesis, model or theory to be useful, it must meet two criteria:

●   Simplicity in predicting at least as much as an alternative hypothesis, model or theory, although requiring less information. Friedman rejected the idea of testing a hypothesis, model or theory by the realism of its assumptions, as it is the simplicity of economic hypotheses, models and theories that help to predict economic behaviour.

●   Fruitfulness in the precision and scope of the predictions of the economic hypotheses, models, and theories and their ability to generate additional research and understanding of economics.
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Theory of Knowledge

How realistic are economic theories and models in explaining real-world issues?









[image: ]   The ceteris paribus assumption



Economics is regarded as a social science, examining the behaviour of individuals and societies from an economic perspective. As it is not an exact science, it can prove difficult to isolate a particular variable or to hold it constant. For instance, the demand for ice cream is affected by many factors, such as the price, the income of customers, or even the weather. In reality, things are not constant and countries deal with the same economic problem or issue in different ways. Therefore, the concept of ceteris paribus enables economists to simplify and explain possible causes and effects, even if assumptions have to be made.

Milton Friedman (1953) argued that ‘a theory or its assumptions cannot possibly be thoroughly realistic’ and nor do they need to be as it is impossible and unnecessary to examine every single factor ‘directly underlying the supply and demand for wheat’ (or any other product). Friedman argues that trying to make an economic theory overly realistic simply renders it useless owing to the ceteris paribus notion.

Ceteris paribus is a Latin phrase meaning ‘all other factors remaining constant’ or ‘all else unchanged’. For example, the ceteris paribus condition allows economists to examine what is most likely to occur to the level of demand for a good or service if one variable affecting demand changes (such as income) while holding all other variables (that affect demand for the product) constant. For example, ceteris paribus, firms will increase the supply of flowers if the price of flowers increases.
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[image: ]   Empirical evidence



Empirical evidence refers to first-hand data and information acquired by observation or experimentation of certain behaviours and patterns. It is an important aspect of positive economics because it involves looking at what has happened in the economy and what is currently happening in order to make logical and rational predictions for the future. Any conclusions drawn from positive economic analyses can be tested and supported or refuted by facts, figures and other research data. Furthermore, what is observed or experienced can be different from what an economic hypothesis, model or theory might predict.

A positive economic statement (such as ‘an increase in the price of a product causes an increase in the quantity demanded’) can be accepted or rejected based on empirical evidence. In the study of positive economics, empirical evidence is vital for constructing hypotheses, models and theories and for testing their validity. The use of empirical evidence is also used to check and validate deduced factual statements and the use of logic in economics.

However, economics is not an exact science so controlled experiments are not viable to collect data to prove or refute a hypothesis. Instead, uncontrolled events and economic behaviour, influenced by value judgements, makes it more difficult to produce empirical evidence to justify the acceptance or rejection of a hypothesis. For example, reducing interest rates in the economy should lead to more consumption and investment (see Chapter 17) because it is relatively cheaper for households and firms to borrow money to consume and invest. However, households and firms may lack confidence in the economy so refrain from borrowing money to fund consumption and investment, despite the lower costs of borrowing.



ATL ACTIVITY 2.1

The field of education continually goes through change, in attempts to make it better. Discuss how the standards of teaching and learning at your school could be improved, and how empirical evidence could be collected and used to measure the effectiveness of your suggestions.




Theory of Knowledge

Discuss the extent to which empirical evidence in a continual world of change can ever allow economists to arrive at the truth about real-world issues.
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[image: ]   Refutation



Positive economic statements can be verified or refuted by referring to facts, data and empirical evidence or further investigation. An economic statement is considered to be false if it is refuted (rejected) by the empirical evidence.

For example, economic theory suggests that more people will reduce savings and increase consumption if interest rates fall (because there is less of an incentive to save money and cheaper to borrow money to spend). This assumption or forecast of consumer behaviour is based onpositive economics because past data can be used to support this. Whether this materializes in reality depends on many factors, such as the level of consumer confidence in the economy.


For example, Japan used a zero interest rate policy (ZIRP) for more than 20 years, starting in 1999, owing to the country’s slow economic growth, yet the Bank of Japan’s monetary policy measures (see Chapter 20) had a minimal impact on the economy. For Japan, the experience and evidence demonstrate the limitations of what central banks can do in isolation, so the theory that lower interest rates help to stimulate the economy can be refuted.

As an evolving social science, positive statements in economics are accepted or refuted by using ongoing research, data and empirical evidence. Examples of such statements that have been accepted and refuted at different times in different parts of the world include:

●   Each country has an optimal tax rate; an increase in tax rates can bring in more tax revenues for the government up to a certain amount before disincentives set in.

●   Globalization is beneficial for everyone in the long run.

●   Individuals make rational expectations about the future that affect their current spending pattern.

●   Fiscal stimulus through tax cuts and increased government spending can get countries out of a recession when there is a downturn in overall level of economic activity (see Chapter 16).


ATL ACTIVITY 2.2

The United States, Japan and several European Union member nations have all used a zero interest rate policy (ZIRP) to stimulate economic activity. Investigate the goals, potential benefits and limitations of using a ZIRP as a form of government intervention in the economy.









The role of normative economics




Recall that positive economics focuses on objective economic analysis, based on logic and hypotheses, models and theories that are backed by empirical evidence. This contrasts with normative economics, which considers opinions, beliefs and statements of ‘what should be’ (or what ought to be). Normative economic statements or claims are subjective, rather than objective (unbiased), expressing a value judgement about what is perceived to be desirable or undesirable about the economy. Normative economic statements cannot be verified or refuted by referring to facts, evidence or further investigation.

Examples of normative statements include:

●   The government should impose higher income taxes on wealthier people.

●   The country must impose higher tariffs (import taxes) on foreign goods entering the country.

●   The government should spend more money on education and less on national defence.

●   Prosperous countries must donate more money to low-income countries.

●   Society ought to ensure housing is provided for everyone.

●   The state is supposed to ensure that everyone has a job.

●   The retirement age in the country should be raised to 70 for women and 72 for men.

Although it would seem rational for economists to rely on evidence-based research to determine economic policies, the reality is that most economic decisions are still influenced by value judgements (the opinions and beliefs of the decision makers and policymakers), at least to some extent. The reality is policymakers often base future predictions and decisions on value judgements regarding why things happen as they do.
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[image: ]   Value judgements in policymaking



Value judgements are the beliefs of individuals and societies about what is right or wrong, or good or bad. These judgements are often influenced by morals, ethics, and cultural values and beliefs. For example, consider the following examples of normative economic statements and the role of value judgements in policymaking:

●   On average, men should be paid more than women.

●   It is wrong to have any form of discrimination when hiring and promoting people in the workplace.

●   Children should study English, mathematics and science up to the age of 18.

There is much debate regarding whether value judgements should have any role in policymaking. For example, free market economists argue that positive discrimination occurs as a result of market forces (statistically, men might be paid more than women, on average, for several rational and logical reasons) rather than interventionist policies that may create equality but at the opportunity cost of economic efficiency.

In reality, value judgements often play a crucial role in policymaking especially because economic well-being is concerned with the desirability or undesirability of different economic policies. Judgeing the social welfare of economic policies involves value judgements so is not an easy task especially owing to individual perspectives and interpersonal comparisons of welfare and well-being. For example, the UK officially left the European Union on 31 January 2020 (having joined in 1973). The UK voted to leave the EU by a majority of 52 per cent to 48 per cent. The majority of voters in England and Wales opted to leave, while Scotland had voted to remain in the EU. The decision came four years after the UK’s vote to ‘Brexit’, but took three different Prime Ministers to see it through. It remains to be seen whether the decision to Brexit really will benefit the British people and its economy.



ATL ACTIVITY 2.3

The UK joined the European Union in 1973. Forty-seven years later, the UK permanently left the EU in January 2020. Investigate the purpose of EU membership, and evaluate the advantages and disadvantages of EU membership for the UK (or any other EU member state of your choice).
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Theory of Knowledge

What role, if any, do opinions and value judgements have in the creation of knowledge in economics?



Therefore, value judgements mean that individuals choose differently so there is not necessarily a unanimous social choice. Individuals make different choices based on their different tastes, preferences and beliefs. The existence of value judgements means that policymaking and welfare economics cannot be purely objective or free from subjectivity.





[image: ]   The meaning of equity and equality



In economics, the concept of equity is about fairness. It is concerned with economic fairness in the distribution of resources. In other words, people who are better qualified, have more work experience and work harder should be rewarded accordingly. Equity, although subjective to some extent, justifies the use of the price mechanism to rationalize the allocation of scarce resources. For example, doctors are paid more than junior nurses owing to the relatively higher demand and lower supply of doctors. The same applies to pilots and cabin crew, school principals and classroom teachers, or a head chef and servers. However, critics of free market economies raise concerns about such vast differences in income and wealth caused by the price mechanism in the rewarding of effort, ability and wealth creation.

Another example of equity is the allocation of car park spaces in retail locations. Many retail operators allocate parking spots closest to supermarkets and shopping malls for disabled parking. This may be deemed to be fair (equitable) by society because a disadvantaged segment of the market is being given an advantage by reallocating resources in their favour. This strategy is different from equality as the parking bays are not equally distributed given the disproportionate number of people who qualify to use these spaces and there is no equal access (as qualifying members must have a legitimate disabled badge on display in their vehicle).


CASE STUDY

Who gets to attend an IB Workshop?

The IB offers official upskilling workshops to teachers as part of their professional training and development. These workshops typically last three days and are run all over the world. They are facilitated by a Workshop Leader. In order to promote equity, the allocation of a Workshop Leader to particular IB workshop is based on the following criteria:

[image: ]   Location (country of residence) – owing to visa and/or cost restrictions, such as airfares and hotel accommodation.

[image: ]   Workshop Leaders’ profile – based on the Workshop Leaders’ level of experience, their own upskilling training, and feedback from past workshop participants.

[image: ]   Rotation – to give IB Workshop Leaders the fairer chance of facilitating an IB Workshop, rather than the same few people getting the opportunity to do so.
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However, equity is not the same as equality, which regards everyone being equal. Hence, equality is about social fairness and collectivism from the perspective of a planned economic system (see Chapter 1). A fundamental premise for discussions of equality is that individuals in society should have equal recognition. This means that every individual person matters, irrespective of factors such as gender, gender reassignment, age, ethnicity, religion, sexual orientation, disability, marital status, and so forth. Inequality is a major concern for many economies. This occurs when economic opportunities are unevenly distributed between different groups in society. For example, children from low-income families may be denied access to high-quality education and healthcare, which limits their ability to earn high levels of income in the future.



Theory of Knowledge

What does inequality allow us to know about a society and its values?




Common mistake

Students often confuse the concept of equity with the term equality. Equity is about perceived and justified economic fairness, whereas equality is about economic outcomes being the same or similar for different people. Equity is about empowering people to be successful, whereas equality is about treating everyone in the same way. In short, equity is about fairness and equality is about sameness. See Chapter 19 for more details about the relationship between equity and equality.



Overall, when considered together, positive economics and normative economics provide decision makers with a clearer understanding of the impact of different policies. The two economic methodologies cover actual facts combined with value judgements about equity and equality in formulating and executing policy decisions.


WISE ChoICES

While hiring more women or people of different ethnic backgrounds might be deemed to be equitable, to what extent is does this practice jeopardize efficiency?









Economic thought (AO2)



This section of the IB Economics syllabus covers the different economic schools of thought from the eighteenth century to the twenty-first century. The assumptions that guide the study of economics as a social science have changed considerably throughout history, with direct and significant influence on the global economy and our everyday lives. Essentially, it is a historical account of economic ideas, beliefs and principles. Examining the origins of economic ideas in a historical context helps to explain and gain an understanding of how economists approach the world. This is important because economic ideas have been and continue to be instrumental in shaping the diverse policies of different countries throughout the world.






[image: ]   Eighteenth century



Adam Smith (1723–90) is widely credited as being the Father of Economics. In The Wealth of Nations, Smith laid the foundations of free market (or laissez-faire) economics. He believed in a laissez-faire approach to economics, which refers to the policy of leaving things to their own devices, without government interference. He argued that rational economic behaviour (people acting in their best self-interest) and competition are fundamental to economic well-being and prosperity. Smith called this idea the invisible hand (of the price mechanism). In other words, consumers and producers, each acting in their own interest, will ensure that the optimal output is produced. He believed that competition was self-regulating so government intervention should have no role to play in business activity. Hence, he argued against the use of tariffs and other barriers to international trade, and advocated the liberation of markets.

Tim Harford, author of The Undercover Economist (2005), used a modern-day example to illustrate the idea of Smith’s invisible hand in action, that a laissez-faire approach enables market forces to allocate resources efficiently:

A cappuccino is intriguing to an economist: he doesn’t know how to make a cappuccino, and he knows that nobody else does either. Who, after all, could boast of being able to grow, pick, roast, and blend coffee, raise and milk cows, roll steel and mold plastics and assemble them into an espresso machine, and, finally, shape ceramics into a cute mug? Your cappuccino reflects the outcome of a system of staggering complexity. There isn’t a single person in the world who could produce what it takes to make a cappuccino.

(Tim Harford page 4)
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As a free market economist, Adams refuted the idea of mercantilism that had dominated economics and international trade throughout the sixteenth to eighteenth centuries. Mercantilism refers to the idea that a country’s wealth and economic power were limited to its finite resources, so there was reliance on increasing the nation’s exports and limiting its imports in an attempt to acquire precious metals such as gold and silver. Prior to the rise of Smith’s classical economic theory, most economies were run using a ‘command and control’ approach, with the government tightly controlling all aspects of economic activity.






[image: ]   Nineteenth century



Economics in the nineteenth century was dominated by classical microeconomic utility theory, the concept of the margin and classical macroeconomics (Say’s law). Adam Smith is regarded by most people as the originator of classical economic theory. This section of the IB Economics syllabus also considers Karl Marx’s critique of classical economic thought.

Classical economics is a broad term that refers to the main economic school of thought during the eighteenth and nineteenth centuries. Classical economic theory focused on the self-regulation of market forces to allocate resources in an efficient way. Classical economics is the opposite of a ‘command and control’ economic system and became closely associated with economic and political freedom (driven by incentives and minimal government intervention in economic activity). Classical economists were in favour of competition and free international trade among workers and firms in order for markets to work efficiently.

Classical microeconomics – utility theory

An important development of classical economics was the concept of utility theory. Utility refers to the level of consumer satisfaction from the consumption or use of a product. A product has utility if it provides the consumer with satisfying use and/or enjoyment (happiness or usefulness). The theory, developed by British economist Alfred Marshall (1842–1924), assumes that utility maximization is the most important factor in determining the demand for a good or service. Classical economists believe that a consumer aims to maximize personal satisfaction so makes decisions based on their judgement of how much utility they get from the purchase and use of the product.

Utility theory also assumes rational behaviour. This means that people act rationally when making economic decisions to maximize their satisfaction. Many of the fundamental theories studied in economics, such as demand and supply (see Chapters 3 and 4) were devised by classical economists based on utility theory. This is because economic utility (the usefulness of a good or service or the satisfaction that consumption of a product brings) directly influences the demand, and therefore price, of any given good or service. Essentially, classical economists of the nineteenth century had attempted to explain the economic reality of price, which they believed was determined by the utility of the good or service.
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Top tip!

Note that utility tends to decline as the supply of a good or service increases because the resource becomes less scarce, so is valued less by consumers. This is one reason why highly scarce resources are very expensive, such as diamonds.



The concept of the margin

Classical microeconomics theory assumes that consumers purchase a good or service depending on the marginal utility of consumption. Marginal utility refers to the benefit or satisfaction gained from consuming an additional unit of a good or service. Classical economists assumed that the level of utility can be quantified in order to illustrate the varying degree of satisfaction from consumption. Marginal utility is measured by calculating the change in utility as an additional unit is consumed.

The law of diminishing marginal utility (see Chapter 3) states that as the level of consumption of a good or service increases, the marginal utility derived from the consumption of each additional unit of that product eventually declines. While marginal utility can increase incrementally from the consumption of an additional unit, the theory suggests that marginal utility will eventually diminish. For example, the utility for a consumer eating a first slice of pizza or drinking a glass of fizzy drink is likely to be quite high, whereas the utility of a second or third slice of the same pizza or drink is likely to be lower. Overeating or overdrinking can eventually cause marginal utility to be negative, that is, the consumer gets sick! Therefore, the law of diminishing marginal utility of consumption is a key determinant of a product’s price as consumers are not willing to pay the same price for additional units if they experience diminishing marginal utility.
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ATL ACTIVITY 2.4

Economics is one way of looking at how the world achieves well-being, utility, benefit or satisfaction, as suggested by British classical economist and philosopher John Stuart Mill (1806–73). What is the difference between well-being and marginal utility? Discuss this question with a partner and be prepared to share your answers with the rest of the class.




Classical macroeconomics (Say’s Law)

Jean-Baptiste Say (1767–1832) was a French classical economist and entrepreneur who advocated for the liberalization of markets in favour of competition and free international trade. He supported the laissez-faire view that governments should not interfere with the operations of the free market. In his book, Treatise on Political Economy (1803), Say developed the economic theory that stated the income from selling goods and services in the past becomes the source of expenditure to stimulate demand for current production. This became known as Say’s law, or more formally Say’s law of markets.

Say suggested that to have the means to buy something, economic agents must first have produced something to sell. In other words, an individual’s ability to demand goods or services is based on the income they have produced (earned) from their own past acts in the production process. John Maynard Keynes subsequently interpreted and simplified this as ‘supply creates its own demand’. Say’s law implies that national output (or the country’s gross domestic product) is the key to economic growth and prosperity, and that government policy should therefore focus on production rather than consumption. Say’s law went on to influence supply-side economists of the twentieth century.

Marxist critique of classical economic thought

Karl Marx (1818–83) was a German philosopher and sociologist who emerged to challenge the classical economic school of thought. He developed an alternative perspective to classical economics, by focusing on the surplus value created by a capitalist (free market) economic system. Marx saw the invisible hand of the market economy as more of an invisible fist or an iron fist of capitalism in the exploitation of workers. He accused classical economists of promoting capitalism in favour of those who enjoyed privileges and the power to ruthlessly exploit workers as industrialists maintain power in the workplace. This, according to Marx, would enable capitalists to earn monetary profits, with minimal if any concern for human worth and need.

Marx’s labour theory of value (1867) made the basic claim that the value of a good or service can be objectively measured by the average number of hours required to produce that product. For example, if it takes twice as long to produce a pair of shoes compared to a shirt, then shoes are twice the value of shirts. Hence, the price of shoes is twice the price of shirts. A major criticism of this theory is that it ignores the different costs of production, such as the differences in costs of making shoes and shirts.

Marxism thrived following the spread of communism throughout Eastern Europe during the first half of the twentieth century. He condemned capitalism as an economic system that ignores the needs and values of the masses. However, by the late nineteenth century, economists had rejected Marx’s labour theory of value, arguing that capitalists do not earn profits by exploiting workers but that entrepreneurial capitalists earn profits by organizing production efficiently, by investments (sacrificing current consumption in favour of capital expenditure), and by taking calculated risks. He had also underestimated the flexibility of a free market economy as the world advanced through history. Furthermore, comprehensive planning, as advocated by Marx, became increasingly unrealistic as the world’s economies grew and became more interdependent.


Theory of Knowledge

Given that a consumer’s utility cannot be quantified accurately or truly, how is it possible to know anything about consumer happiness if it cannot be scientifically or mathematically measured?






Theory of Knowledge

Marxist economics focuses on the role of labour in the development of an economy, but it ignores the role of entrepreneurs. To what extent does history reinforce and create new knowledge in economics?







[image: ]   Twentieth century



Following the Great Depression of 1929–39 (regarded as the worst economic downturn in the history of the industrialized world) and the Second World War, classical economics declined in popularity in favour of the Keynesian revolution. This school of economic thought (Keynesian economics) was named after British economist John Maynard Keynes (1883–1946), who advocated the use of interventionist macroeconomic policies to pull the world’s economies out of a global depression. This would be achieved by a combination of increasing government expenditure and lowering taxes in order to stimulate aggregate demand in the economy (see Chapter 17). Keynes was highly critical of the classical economic argument that natural forces (incentives of the market economy and the invisible hand) would be enough to help the economy recover from an economic depression and the problems of long-term unemployment.
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Keynes was the most well-known student of British economist Alfred Marshall (1842–1924), who with his mathematic stance on economics had developed the theories of demand and supply (see Chapters 3 and 4), marginal utility and costs of production.

Keynes also refuted Say’s law. He argued that the Great Depression created over-production in the economy and the subsequent deficiency of demand. Keynes suggested that the depth and severity of the Great Depression meant that market forces could not correct themselves. He provided a more thorough examination and challenge to classical economics than Karl Marx had done. Keynes believed that government intervention is needed because free market economies lead to under-production and under-consumption of certain goods and services, and leave the economy vulnerable to the economic cycle of boom and slumps (economic depressions). He argued that government intervention plays a crucial role in stabilizing the economy during an economic recession (see Chapter 16) and economic interventionist policies can help to maximize social benefits.

While Marx criticized capitalism, Keynes sought the opportunity for the government to justify its existence and the role it has in managing the economy to deal with the fluctuations in business cycles (see Chapter 16). Subsequently, Keynesian economics became considered a ‘demand-side’ theory that focused on interventionist macroeconomic policies in the immediate and short run to manage the problems of the economy as a whole, such as avoiding the troubles of a recession. In particular, Keynesian economists believe that fiscal policy (the use of taxation and government spending policies) is a more powerful and effective macroeconomic stabilization policy than monetary policy (the use of interest rate policies to control the supply of money in the economy). Nevertheless, Keynes’ macroeconomic theories are still used today by governments around the world to manage the economy by using demand-side policies (see Chapters 20 and 21).




 CASE STUDY

Coronavirus and fiscal stimulus

The outbreak of the coronavirus in 2019/20 caused governments across the world to adopt interventionist policies to support their economies. The USA, for example, saw unemployment increase to over 30 million people in just 5 weeks, and over 40 million by June 2020. The federal government injected over $2 trillion to support the unemployed and businesses that were forced to close during The Great Lockdown.



In the latter part of the twentieth century, monetarists and the new classical counter revolution (NCCR) refuted Keynes’ economic theories. Monetarists are economists who believe monetary policy (see Chapter 21) is a more powerful and effective macroeconomic stabilization policy than fiscal policy. Monetary policy is a macroeconomic tool used to influence the overall performance of the economy. This is usually done by changing interest rates to adjust the amount of money in the economy.

Monetarism became a macroeconomic school of thought that emphasizes monetary policy analysis and the role of the money supply in the economy. It is mainly associated with 1976 Nobel Prize-winning American economist Milton Friedman (1912–2006). Friedman argued that poor management of the economy’s money supply by the Federal Reserve (America’s central bank) was the primary cause of the Great Depression in the 1930s. To monetarists, the money supply is the main determinant of national output (gross domestic product) in the short run and the general price level in the long run. Monetarism gained prominence during the 1970s and helped to combat inflationary pressures due to higher oil prices in the USA and UK. It has also been used by central banks and monetary authorities across the world to stimulate their economies following the global financial crisis between mid-2007 and early 2009.

During the 1980s, in the governments of the USA, UK, Canada and (West) Germany the new classical counter revolution (NCCR) came to the forefront. The NCCR economic school of thought favoured supply-side macroeconomic policies (see Chapter 25). This was in response to the interventionist arguments of theorists such as John Maynard Keynes. This led to the popularity of privatization of state-owned enterprises (the sale of public sector assets) and the withdrawal of government regulation of markets.

There was also a resurgence of the doctrines of classical economics with economies focusing on free markets and laissez-faire economics. The new classical counter revolutionists use the example of the Asian Tigers (Singapore, Hong Kong, South Korea and Taiwan) who used free market economics and an export-led strategy to propel their economies to wealth and economic prosperity. By contrast, many African and Latin American economies did not prosper despite their reliance on interventionist macroeconomic policies. Laissez-faire economics, privatization and deregulation (the removal of rules, restrictions and regulations in an industry, thereby promoting competition and efficiency) continued to gain importance into the twenty-first century, but such ideas were questioned for their effectiveness following the economic and social stresses of the global financial crisis (2007–09).




Theory of Knowledge

What is truth in the study of economics? How do we determine truth in the history of economic thought?







[image: ]   Twenty-first century



The twenty-first century has seen increasing dialogue with other disciplines such as psychology and the growing role of behavioural economics. In addition, the growing importance of globalization and the push for environmental protection of the planet has led to increasing awareness of the interdependencies that exist between the economy, society and environment.

This has also steered economics in the direction of having an understanding and appreciation of a circular economy, an economic system in which raw materials, components and other resources are used in sustainable ways to generate output of goods and services.

Economics has increasingly been influenced by other disciplines such as psychology and marketing (from the field of business management). This has subsequently popularized the growing role of behavioural economics (see Chapter 6) and its impact on public policy. Behavioural economics applies the understanding of human behaviour by psychologists and marketers to economic analysis. Richard Thaler, a pioneer of behavioural economics, called this ‘economics done with strong injections of good psychology’. Behavioural economists argue that people do not always behave in a rational way that is in their own best interest. Behavioural economics provides a framework to create opportunities to nudge people towards wiser, safer and healthier choices. Supporters of behavioural economics argue that it makes economics more accurate and realistic about how humans behave and their decision-making.


Theory of Knowledge

Some economists argue that economics as a social science is still in its infancy, and that with time as empirical testing methods and the quality of data improve, it will become more reliable in making accurate predictions. Do you agree with this statement?



[image: ]


Economics of the twenty-first century has also seen an increasing awareness of the interdependencies that exist between the economy, society and the environment. As Kofi Annan (1938–2018), former Secretary-General of the United Nations, once said ‘We need to think of the future and the planet we are going to leave to our children and their children’. Essentially, economists are more aware that sustainable development requires consideration of economic sustainability (profit) for the economy, social sustainability (people) for the society, and ecological sustainability (planet) for the environment. By contrast, over-production can cause pollution and waste, so is therefore not sustainable.

In economics, sustainability is the ability to conduct economic activity indefinitely. This means whatever the economy does today does not compromise the opportunities for future generations. For example, the sustainable use of the Earth’s limited natural resources means that the current level of economic activity does not jeopardize the resources available for future generations. By contrast, overfishing and deforestation are examples of unsustainable economic activities.
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This increasing awareness of the interdependencies that exist between the economy, society and environment also led the United Nations to upgrade their eight Millennium Development Goals to the Sustainable Development Goals (see Chapter 33).

Sustainability requires firms to be more efficient and economical with the use of the planet’s scarce resources, such as by reducing, reusing and recycling. It may also involve the use of green technologies, renewable energy sources and recycled materials in production processes. This has led to the compelling reasons for moving towards a circular economy, rather than the traditional ‘take–make–waste’ approach of the linear economy.

A circular economy describes an economic system in which raw materials, components and other resources are used sustainably to generate output. The model is underpinned by a transition to green and renewable energy sources in order to build natural, economic and social capital. It is based on the principle of manufacturing in such a way that consumption and resource usage enable recycling, reuse and regeneration in the manufacturing cycle. In the long-term, this means economic opportunities also provide both environmental and societal benefits.
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PAPER 1 EXAM PRACTICE QUESTION 2.1




	a   Explain the significance of normative and positive economics.

	[10 marks]



	b   Explain the importance of the ceteris paribus assumption for economic models and theories.

	[10 marks]



	c   Explain the difference between equity and equality.

	[10 marks]








Theory of Knowledge

In the era of ‘fake news’ spread on the Internet, what criteria should be used for evaluating knowledge claims in economics?




WISE ChoICES

To what extent has change impacted on sustainability? You may choose to investigate this in the context of economic activity for an economy of your choice.




Theory of Knowledge

To what extent does the Persian Proverb ‘Doubt is the key to knowledge’ apply to economics?




Chapter summary

[image: ]   Economic methodology studies the evolving processes, practices and principles that underpin the discipline as a social science.

[image: ]   John Neville Keynes categorized economic methodology as either positive or normative economics.

[image: ]   Positive economics is about the way the economy actually works, based on statements of ‘what is’, backed by empirical evidence.

[image: ]   Normative economics is about how the economy should work, based on statements of ‘what should be’.

[image: ]   Logic is integral to the study of positive economics as it is based on rationality and reasoning, rather than emotions or value judgements.

[image: ]   As part of economic methodology, economists use hypotheses, models and theories to explain real-world phenomena. These can be supported or refuted by empirical evidence.

[image: ]   As economics is not an exact science, the ceteris paribus assumption is used when examining the behaviour of individuals and societies.

[image: ]   Economists are interested in both equity (fairness in the distribution of scarce resources) and equality (equal recognition of people).

[image: ]   Economic thought studies the evolving schools of thought of economics from a historical perspective, from classical economics of the eighteenth century to behavioural economics and emphasis of the circular economy in the twenty-first century.
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Microeconomics






3 Demand




Real-world issue

How do consumers and producers make choices in trying to meet their economic objectives?




Conceptual understandings (WISE ChoICES)

●   Consumer and producer choices are the outcome of complex decision-making.

●   Welfare is maximized if allocative efficiency is achieved.

●   Constant change produces dynamic markets.




SYLLABUS CONTENT

By the end of the chapter, you should be able to understand:

[image: ]   the law of demand, that is, the relationship between price and quantity demanded (AO2)

[image: ]   the income and substitution effects, and the law of diminishing marginal utility, and explain the assumptions underlying the law of demand (AO2) (HL only)

[image: ]   the downward sloping demand curve diagram (AO4)

[image: ]   the relationship between an individual consumer’s demand and market demand (AO2)

[image: ]   the non-price determinants of demand: income, tastes and preferences, future price expectations, price of related goods (in the cases of substitutes and complements), and the number of consumers (AO2)

[image: ]   movements along the demand curve and shifts of the demand curve (AO2)

[image: ]   a demand curve diagram that shows movements along the demand curve and shifts of the demand curve (AO4).





The law of demand (AO2)




Demand is the quantity of a good or service that customers are willing and able to buy at given prices in a particular period of time. It is sometimes referred to as effective demand to distinguish It from a want or a desire to buy something. Only when a person has the desire (willingness) to buy a product that is also backed up by the capability (ability) to pay, do economists speak of demand. For example, a person may want to buy a luxury sports car, but without enough real purchasing power then that person does not have effective demand.

Price refers to the amount of money a customer pays in order to purchase a good or service. The law of demand states that the quantity demanded for a good or service falls as its price rises, ceteris paribus. In other words, the higher the price of a product, the lower its demand tends to be. Likewise, the quantity demanded will tend to rise at lower prices. This relationship is represented using a demand curve diagram (see Figure 3.2).



ATL ACTIVITY 3.1

The law of demand applies to almost all goods and services. It is rational to assume that customers will want to buy larger quantities of goods or services at lower prices. However, this might not always be the case. With a partner discuss why might customers buy more when price increases and less when the price drops.




Common mistake

‘Demand is the amount of a good or service that customers want to buy at each given price level.’
 
Demand is the quantity of a good or service that customers are willing and able to buy at given price.





PAPER 2 AND 3 EXAM PRACTICE QUESTION 3.1

Define the term law of demand.

[2 marks]







[image: ]   Assumptions underlying the law of demand (HL only)



There are three causes of the negative relationship between price and quantity demanded. These factors form the assumptions underlying the law of demand:

●   The income effect – as the price of a product falls, the real income of customers increases. In other words, they are able to buy more products at lower prices. In other words, real income increases when prices fall, as customers are able to purchase more goods and services with the income they currently have. By contrast, an increase in the price of a good or service reduces people’s real disposable incomes, which in turn reduces the quantity demanded.

●   The substitution effect – as the price of a good or service falls, more customers are able to buy the product, so choose this over rival or substitute products that they might have previously bought. Essentially, the substitution effect causes consumers to replace higher priced products with lower priced ones.

●   The law of diminishing marginal utility – as individuals consume more of a particular good or service, the utility (return or satisfaction) gained from the additional unit of consumption declines, so customers will only purchase more at lower prices. This is because the demand for a good or service is dependent on the utility derived from consuming it, which diminishes from the consumption of each successive unit of the product. At some point, consumers will not want any more, because the marginal utility of consumption drops to zero.

[image: image]








Demand curve (AO4)



The demand curve illustrates an inverse correlation between the price and quantity demanded of a product over a certain period of time (see Figure 3.2). It shows how much of a product is demanded at different prices. The amount of a good or service demanded at each price level is called the quantity demanded.

When constructing a demand curve diagram, price is measured along the vertical (y) axis, and quantity demanded is measured on the horizontal (x) axis. It is important to include the correct units of measurement too, such as ‘$’ for price and ‘kilograms’ for quantity demanded. In economics, it is conventional to draw the demand curve as a linear downward sloping line.

Figure 3.2 shows that as the price of carrots increases from P1 to P2, the quantity demanded falls from Q1 to Q2 as fewer people are willing and able to pay the higher price. The opposite is true for a reduction in price. In other words, the quantity demanded will increase as the price of a product falls, ceteris paribus.


Common mistake

Be careful when using the terms ‘demand’ and ‘quantity demanded’ as these are often confused by candidates. Demand refers to an entire demand curve, whereas quantity demanded refers to a point on the demand curve.
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Relationship between an individual consumer’s demand and market demand (AO2)




A market is any place where transactions take place between buyers and sellers; for example, shares are traded in a stock market and currencies are traded on the foreign exchange market. Scarcity must exist for a market to occur. The market demand curve refers to the sum of all individual demand for a product at each price level. It is found by adding up all individual demand at each price level (see Figure 3.3). For example, if a cinema charges $15 for movie tickets and the demand from male customers is 500 and 400 from female customers per week, then the market demand (Dm+f) at this price is 900 cinema tickets per time period.
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Common mistake

‘The market demand refers to demand for a particular good or service in a particular market.’

This is a very imprecise definition. The market demand refers to the sum of all individual demand for a particular product at each price level.








Non-price determinants of demand (AO2)



Although price is regarded as the key determinant of the level of demand for a good or service, it is not the only factor that affects the quantity demanded of a product. Non-price determinants of demand are the various factors other than the price of the good or service that affect the demand for the product. These factors change the demand (shift the demand curve) for a good or service.


Non-price determinants of demand include: income, tastes and preferences, future price expectations, the price of related goods (in the cases of substitutes and complements) and the number of consumers.


Top tip!

The non-price determinants of demand can be remembered by the acronym RIPEN: Related products (substitutes and complements), Income, Preferences and tastes, Expectations of future prices, and the Number of consumers.





[image: ]   Income



Higher levels of real income mean that customers are able and willing to buy more goods and services, owing to their greater purchasing power, ceteris paribus. For example, the average person in the USA will have a higher level of demand for goods and services compared to the average person in Algeria or Vietnam. Another example is that in economically developed societies with rising average real incomes, the demand for smartphones has risen steadily. This would be shown diagrammatically by a rightwards shift of the demand curve for smartphones. Products that have higher demand when real income increases, such as smartphones, are known as normal goods. In the same way, if an individual’s income falls, so will demand. This would be represented by a leftwards shift of the whole demand curve.

Note that there is one exception to this rule – in the case of inferior goods, an increase in real income will lead to a fall in the demand. For example, individuals with low incomes are less likely to demand fresh meat and more likely to buy canned or processed meats. However, if they earn higher real incomes, demand for canned and processed meats is likely to fall, while the demand for fresh meats is likely to rise. Hence, fresh meats are considered as normal goods and canned or processed meats are classified as inferior goods.
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Theory of Knowledge

Some products, like alcohol, gambling and cigarettes, can be highly addictive. The stronger the addiction, the greater the level of demand for these products.

To what extent does addiction to a product interfere with rational decision-making in economics? Do individuals forgo their own self-interest when making such decisions?







[image: ]   Tastes and preferences



Changes in people’s tastes and preferences can affect the demand for all types of goods and services. Products that become fashionable (such as the latest smartphones and smartwatches) lead to an increase in demand, whereas those that become unfashionable (such as last season’s clothes) will cause a fall in the level of demand.

Tastes and preferences can change over time, so demand increases or decreases to reflect these changes. For example, smoking cigarettes is far less fashionable than it used to be. Hence, the demand for tobacco products has fallen over time. Similarly, the demand for sugary drinks has declined due to health concerns and changes to people’s (healthier) lifestyle habits.

Consumers may have a preference for certain brands, so this can have a significant influence on how consumers spend their income. Branding and advertising aim to increase the emotions and desires attached to a product. Successful brands give consumers confidence and minimize the risks associated with purchasing decisions. Companies with strong brand loyalty include Apple, Nike and McDonald’s. Hence, the demand for their products is relatively high as customers have a greater preference for these brands.





[image: ]   Future price expectations



Consumer expectations of prices in the future can influence the demand for many products, especially in the case of expensive and luxury goods, such as consumer electronics products, motor vehicles and housing. If people expect that the value of a good or service will increase in the foreseeable future, they will demand more of it now, ceteris paribus. So, for example, if people expect property prices to rise next year, they may buy now in anticipation that prices will rise in the future. There is greater demand because customers can expect to make a capital gain on the property purchase (the positive difference between the price the buyer paid for the property and its market value), and the lack of affordability should property prices increase in the future. Similarly, there will be less demand in the market for stocks and shares if people expect prices will drop in the near future.





[image: ]   Price of related goods (substitutes and complements)



The price of related goods means that the sales of one product affect the demand of another product. Related products can be classified as complements or substitutes.

Complements (or complementary goods) are products jointly demanded as they go well together. Examples include cars and petrol, indoor plants and plant pots, scarves and gloves, Doritos and salsa dip, or wedding dresses and wedding rings.


As complements are in joint demand, when there is a change in the price of one product (such as a games consoles), it negatively affects the demand for the related good (the games for the console). For example, an increase in the price of cinema tickets is associated with a decline in the demand for popcorn sales.
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This relationship is shown in Figure 3.6. In the market for smartphones, an increase in supply (perhaps due to technological progress, which reduces the costs of production) results in a price falling from P1 to P2. The law of demand states that the quantity demanded will increase from Q1 to Q2. As more customers buy smartphones, the demand for downloadable applications will also increase. Note that the demand curve for downloadable apps shifts from D1 to D2 as this was caused by a change in a non-price factor affecting the demand for downloadable apps (it was the price of smartphones that changed). Hence, in the case of complements, a fall in the price of one product (smartphones) leads to an increase in the demand for the complementary product (downloaded applications).
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Top tip!

When providing examples of complementary goods, remember that it is possible to have more than just two products that are jointly demanded. For example, when purchasing tickets for the cinema or a theatre show, it is quite common for customers to also buy popcorn, hotdogs, sweets (candy), drinks and other snacks.
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Substitutes are products that are in competitive demand. This means that they are rival products that can be used as alternatives to each other. Examples of goods in competitive demand include Apple iPhone and Samsung Galaxy smartphones, Nike and Adidas sports apparel, Coca-Cola and Pepsi Cola, or BMW, Mercedes Benz and Audi motor vehicles. Firms compete for customers who would ordinarily buy from only one of the suppliers.
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As substitutes are in competitive demand, when there is a change in the price of one product (such as Pepsi Cola), it positively affects the demand for the substitute good (Coca-Cola). For example, an increase in the price of Pepsi Cola (perhaps due to higher production costs) causes an increase in the demand for Coca-Cola, as customers switch to the relatively cheaper brand, ceteris paribus.




PAPER 2 AND 3 EXAM PRACTICE QUESTION 3.2

Explain the likely relationship between the demand for private and public transportation.

[4 marks]




PAPER 1 EXAM PRACTICE QUESTION 3.3

Distinguish between substitutes and complementary goods.

[10 marks]





[image: ]   Number of consumers



A change in the total number of consumers of a product causes the entire demand curve to shift. As more buyers enter the market, or existing customers buy more, the demand curve shifts to the right. This means there is an increase in demand. For example, the markets for smartphones, tablet computers and electric cars have increased significantly. This is the case even if prices do not change. Similarly, the growth in population size is an important factor influencing the increase in the number of consumers in the market for any given product. For example, the total number of buyers and renters in the property markets in major world cities has expanded due to the growing population, which increases the demand for housing in these locations. Hence, the greater the number of consumers of a good or service, the larger the market demand for the product.

[image: image]



Top tip!

Although the IB Economics syllabus states five non-price determinants of demand, other factors can also influence the level of demand, depending on the context of the good or service being considered. For example, important non-price determinants of demand could include the weather and demographics (such as the age, gender, ethnicity or religious beliefs of customers). Although these are not explicitly examined, it can be useful to be aware of this fact to enhance your critical thinking in economics.




WISE ChoICES

Examine how the concepts of change and economic well-being impact the demand for a product of your choice.









Movements along the demand curve and shifts of the demand curve (AO2, AO4)




Recall that the law of demand states there is an inverse relationship between the price of a product and its quantity demanded. A change in the price of a good or service causes a movement along the demand curve. An increase in price causes a contraction in the quantity demanded. By contrast, a fall in price causes an expansion (or an extension) in the quantity demanded (see Figure 3.11).

In Figure 3.11, a fall in price from P1 to P2 causes quantity demanded to expand from Q1 to Q2, as per the law of demand. By contrast, an increase in price from P1 to P3 will cause the quantity demanded to contract from Q1 to Q3 units of output.

While a movement along a demand curve is caused by price changes only, a change in all other (non-price) factors that affect demand will cause a shift of the demand curve. For example, BMW recorded higher than expected profits in 2019 owing to increasing demand for its cars in Europe, the USA and Asia. For the first time ever, the German carmaker enjoyed sales of more than 500,000 vehicles in mainland China during the first three quarters of the year. Hence, the demand for BMW’s cars was higher at all prices.
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An increase in demand (rather than an increase in the quantity demanded) for a product is illustrated by a rightwards or outwards shift of the entire demand curve, caused by favourable changes in non-price factors that affect demand. For example, in Figure 3.13, successful advertising campaigns promoting the consumption of strawberries will shift the demand curve from D1 to D2. This results in more strawberries being demanded at all prices (in this case, the demand for strawberries at a price of P1 increases from Q1 to Q2 kilograms of strawberries). Note: in reality, an increase or decrease in the demand will cause the price to change, rather than to remain at P1.

By contrast, a decrease in demand (rather than a decrease in the quantity demanded) is shown by shifting the entire demand curve to the left, from D1 to D3, resulting in less quantity demanded at all prices. In Figure 3.13, demand was Q1 at a price of P1, but has now fallen to Q3 owing to an adverse change in a non-price factor affecting demand. For example, a fall in real income is likely to reduce the demand for strawberries, causing the quantity demanded at a price of P1 to fall from Q1 to Q3.


[image: ]



Top tip!

Remember the difference between changes in demand and changes in the quantity demanded. A movement along a demand curve is caused by changes in the price of the product, resulting in changes in the quantity demanded. A shift in demand is caused by changes in non-price factors that affect demand, resulting in changes in demand.







Common mistake

‘When the price falls, people have higher real income so there is an increase in demand for a product, ceteris paribus.’
 
The wording of this statement suggests a shift in demand (caused by changes in non-price factors). The student should have referred to the reduced price causing an increase in the quantity demanded, not an increase in demand.





Common mistake

‘A fall in price causes demand to rise.’

This statement also suggests a shift in the demand curve. A fall in price will cause an extension (movement) along the demand curve, ceteris paribus, rather than an increase in demand.




WISE ChoICES

Choose any good or service that you can purchase from a supermarket. Consider how the concepts of scarcity and choice affect the demand for this product.




ATL ACTIVITY 3.2

Using a relevant diagram for each scenario below, explain the impact on the market for tuna fish. Be prepared to share your responses with the rest of the class.

a   An increase in the average household’s real income.

b   Eating fresh fish becomes increasingly popular as part of a healthy diet.

c   The price of fish is expected to fall in the coming weeks.

d   The price of trout and salmon falls by about 10 per cent.

e   The price of salads, which go well with tuna dishes, falls by around 10 per cent.

f    Net migration leads to a noticeable increase in the population size.




Chapter summary

[image: ]   Demand refers to the willingness and ability of customers to pay a given price to purchase a good or service.

[image: ]   The amount of a good or service demanded at each price level is called the quantity demanded.

[image: ]   The law of demand states there is an inverse relationship between the price of a product and its quantity. This is caused by the income effect, the substitution effect and the law of diminishing marginal utility.

[image: ]   The market demand refers to the sum of all individual demand for a product at each price level.

[image: ]   The demand curve is drawn downward sloping from left to right, showing the inverse relationship between price and quantity demanded.

[image: ]   The non-price determinants of demand can be remembered by the acronym RIPEN: related products (substitutes and complements), income, preferences and tastes, expectations of future prices, and the number of consumers.

[image: ]   Price fluctuations cause movements along an existing demand curve.

[image: ]   A rise in price results in a contraction in quantity demanded, whereas a fall in price causes an expansion (or extension) in the quantity demanded.

[image: ]   A change in all other (non-price) factors that affect demand will cause a shift in demand.

[image: ]   Diagrammatically, higher levels of demand are shown by a rightwards (outwards) shift of the entire demand curve. By contrast, a leftwards (inwards) shift of the demand curve occurs when there is less demand for the product at all given prices.










4 Supply




Real-world issue

How do consumers and producers make choices in trying to meet their economic objectives?




Conceptual understandings (WISE ChoICES)

●   Consumer and producer choices are the outcome of complex decision-making.

●   Welfare is maximized if allocative efficiency is achieved.

●   Constant change produces dynamic markets.




SYLLABUS CONTENT

By the end of the chapter, you should be able to understand:

[image: ]   the law of supply, that is, the relationship between price and quantity supplied (AO2)

[image: ]   the assumptions underlying the law of supply: the law of diminishing marginal returns, and increasing marginal costs (AO2) (HL only)

[image: ]   an upward sloping supply curve diagram (AO4)

[image: ]   the relationship between an individual producer’s supply and market supply (AO2)

[image: ]   the non-price determinants of supply: changes in costs of factors of production, prices of related goods, indirect taxes and subsidies, future price expectations, changes in technology, and the number of firms (AO2)

[image: ]   movements along and shifts of the supply curve (AO2)

[image: ]   a supply curve diagram that shows movements along and shifts of the supply curve (AO4).






The law of supply (AO2)



Supply refers to the quantity of goods or services that firms are willing and able to sell at any given price, per time period.

The law of supply states that there is a positive correlation between the quantity supplied of a product and its price, ceteris paribus. Higher prices will tend to increase the quantity supplied, because more firms are able and willing to supply their products owing to higher profit margins. In other words, the potential for greater profitability occurs with an increase in price. The law of supply only holds if price changes while all other factors affecting supply remain unchanged.

[image: image]


The opposite exists if price falls. In other words, there is less quantity supplied when price falls because profit margins fall. Diagrammatically, the law of supply is shown by an upward sloping supply curve (see Figure 4.3).

There are two reasons for the positive relationship between price and quantity supplied:

●   Existing firms in the market can earn higher profit margins if they supply more when the price increases. Hence, higher prices create an incentive for existing firms to supply more.

●   New firms enter the market, attracted by the higher prices and profit margins, which enable them to cover their costs of production and the potential to earn profits.

Hence, as the price of a product increases, firms are likely to expand production so that there is an increase in the quantity supplied, ceteris paribus.


ATL ACTIVITY 4.1

The law of supply applies to almost all goods and services. It is rational to assume that firms will want to produce and sell greater quantities of whichever product earns them the most profit. With a partner discuss when might this not be the cause, that is, as price increases, individuals or firms supply less.





[image: ]   Assumptions underlying the law of supply (HL only) (AO2)



The law of supply suggests a higher price creates greater incentives for existing firms to increase output and for new firms to enter the market, thus increasing the market supply of a product, ceteris paribus. There are two key assumptions behind this law (or general rule): the law of diminishing marginal returns (DMR) and increasing marginal costs.



The law of diminishing marginal returns



The law of diminishing marginal returns (DMR) describes how output is affected when a firm uses more variable inputs (factors of production) while maintaining at least one factor of production as fixed in the short run. For example, a supermarket can hire more labour (the variable input) while the number of checkouts and the physical retail store remains the same (the fixed factor). The law of DMR states that by employing additional variable factors of production (such as labour), the marginal returns (additional output) for each additional unit of input will eventually decline. The law of DMR applies only in the short run because all factors of production are variable in the long run.

Diminishing marginal returns occur in the short run, when at least one factor of production is fixed. It is usually assumed that capital is fixed in the short run. This is because a firm’s real or physical capital (such as buildings, machinery, equipment and vehicles) does not usually change in a short period of time, so is kept fixed when demonstrating this law (or general principle).

At first, the addition of extra workers creates benefits for the firm as it becomes teamwork and the division of labour become possible, thereby improving efficiency and productivity. Hence, initially, there are increasing marginal returns to each additional worker. However, the marginal returns will eventually diminish because each additional worker will gradually contribute less than the one before as work cannot be efficiently divided so well. Also, the additional workers will eventually get in each other’s way thereby diminishing the productivity and effectiveness of each extra worker. The diminishing marginal returns from each successive worker leads to higher production costs, meaning that firms require a higher price to create incentives to produce.





Top tip!

Students sometimes confuse theories, tools and models used by economists, such as the law of diminishing marginal returns (DMR) and diminishing marginal utility (DMU). A useful way for you to remember this distinction is that DMR is used when referring to production (or output), while DMU is used when referring to consumption.




Theory of Knowledge

Can laws in economics, such as the law of diminishing marginal returns, have the same status as laws in the natural sciences?




Top tip!

The law of DMR applies to your revision too! Revising over extended periods of time, and very late at night (to keep you sleep deprived) can be counterproductive. If you revise economics for consecutive 30-minute periods, you will improve your knowledge quite a bit in the first few sessions. However, if you continue to revise for additional 30-minute blocks, eventually the amount that you learn will increase by only a very small amount (if at all) because you become too tired.

[image: image]








Increasing marginal costs



Decisions to supply a good or service are largely determined by the marginal cost of production. Marginal cost refers to the cost of producing an additional unit of output. In general, marginal costs rise with each successive unit produced owing to diminishing marginal returns. Hence, firms are willing and able to increase production only if they receive a higher price for the additional units of output. Therefore, the principle of increasing marginal costs underpins the law of supply (the direct relationship between price and quantity supplied). Essentially, the supply curve slopes upwards because higher prices are needed to cover the higher marginal costs of production when a firm increases its output. In the same way, if the market price falls, the costs of producing the additional unit of output will be greater than the price received by firms, meaning they will cut back supply.










The supply curve (AO4)



The supply curve for a product is shown diagrammatically by an upward sloping linear line (see Figure 4.3). As with the demand curve, the price of the product is shown on the y-axis, with the unit of measurement being a currency (usually $), and the x-axis measuring the quantity supplied.

In Figure 4.3, an increase in the price of tuna fish from P1 to P2 creates an incentive for firms to spend more time and effort to catch or farm tuna fish. Hence, the supply of tuna increases from Q1 to Q2 tonnes.

Similarly, in the labour market, people are more willing to offer (supply) their labour or services at higher wage rates. Hence, as wages increase the supply of labour will also increase due to individuals willing to spend more time working and more workers wanting to join the profession.


[image: ]





Relationship between an individual producer’s supply and market supply (AO2)



The market supply curve refers to the sum of all individual supply of a product at each price level. It is found by adding up all individual supply of producers at each price level (see Figure 4.4).

For example, if the market price of organic grapes is $10 per kilogram and Firm 1 is able and willing to supply 200 kilograms while Firm 2 supplies 300 kilograms, the market supply (Sm) is then 500 kilograms of organic grapes per time period.







Top tip!

The market supply curve is flatter than the supply curves for individual firms. This is because a change in price causes a more than proportionate change in the market supply curve, whereas individual firms have less flexibility to respond to price changes in the short run.




[image: ]





Non-price determinants of supply (AO2)



Although price is regarded as the key determinant of the level of supply for a good or service, it is not the only factor that affects the quantity supplied of a product. Non-price determinants of supply are the various factors other than the price of a good or service that affect the supply of the product. These factors change the supply (shift the supply curve) of a good or service. The non-price determinants of supply include: changes in costs of factors of production, prices of related goods (joint and competitive supply), indirect taxes and subsidies, future price expectations, changes in technology, and the number of firms in the industry.

[image: ]



Top tip!

A useful way to remember some of the key non-price determinants of supply is to use the acronym CISTERN: Costs of production of factors of production; Indirect taxes; Subsidies; Technological change; Expectations of future prices; prices of Related products (joint supply or competitive supply); and the Number of firms in the industry.






[image: ]   Changes in costs of factors of production



Any change in the costs of production or a change in the costs of factors of production (FOPs) will shift the supply curve of the product being considered. If the cost of the FOPs increases (perhaps due to a rise in wages and/or an increase in rent costs), the supply curve will shift to the left, ceteris paribus. This is because the higher costs of production mean that existing firms cannot produce the same quantity as before and fewer firms are willing and able to supply output. Hence, less will be supplied at each price level, as costs of production rise. The opposite is true if there is a fall in the costs of FOPs.






[image: ]   Prices of related goods – joint and competitive supply



The price of related goods also affects an individual producer’s supply. Some products are in competitive supply while others may be in joint supply. In the case of competitive supply, the output of one product (such as apples) prevents or limits the output of alternative products (such as oranges). This is due to competing resources, as producers have limited resources such as land and labour, so cannot supply more of one product without producing less of the other. The relative price and profitability of the two products determines the level of supply for each product. For example, if the price of apples increases by 10 per cent while the price of oranges remains the same, farmers may allocate more land and other resources to harvesting apples than oranges. Hence, the increase in the price of apples reduces the supply of oranges, ceteris paribus (see Figure 4.6).


[image: ]

In Figure 4.6, higher demand for apples (as shown by the shift of the demand curve from D1 to D2) causes an increase in the price of apples from P1 to P2. This causes an extension along the supply curve as more producers supply apples, increasing the quantity traded from Q1 to Q2. The relatively higher price and improved profitability of supplying apples causes a leftwards shift of the supply curve for oranges from S1 to S2 as these and other producers switch to supplying apples instead.

In the case of joint supply, an increase in the production of one product automatically increases the supply of at least another (joint) product, such as cows, milk and leather or lamb and wool. The less important product in joint supply is called the by-product, such as mutton being the main product from sheep and the by-products being wool, milk and cheese. When the supply of the main product changes, the supply of all its by-products is affected in the same way (see Figure 4.7). For example, if the supply of chickens drops dramatically, the supply of chicken eggs would also fall sharply.


[image: image]





In Figure 4.8, increased demand for beef products (shown by the shift in demand from D1 to D2) has led to an expansion in the supply of cows, from Q1 to Q2. As the quantity of cows has increased, this also causes a corresponding increase in the supply of milk.

[image: ]


Common mistake

‘Rising demand for a product will cause an increase in the supply of the product, which will probably mean lower prices.’
 
Rising demand would cause price to increase, which could lead to an expansion in supply, an increase in the quantity supplied (not an increase in supply). This does not lead to lower prices (as it was the higher demand that caused prices to rise).







[image: ]   Indirect taxes and subsidies



Indirect taxes are government levies or charges on expenditure, rather than on incomes. They are imposed on goods and services, so inevitably increase the price paid by customers. Indirect taxes are imposed on the supplier of a product, which basically adds to the costs of production, even if the producer can pass on some of the tax to consumers in the form of higher prices. The indirect taxes reduce the profitability of firms, so tend to reduce market supply. This is illustrated by an inwards (leftwards) shift of the supply curve at each price level.



Common mistake

‘An increase in taxes causes a fall in supply, ceteris paribus.’

This statement is not entirely true, as it is a change in indirect taxes that causes a fall in quantity due to higher costs of production. A change in direct taxes imposed on wages and salaries, for example, would shift the demand curve as households would have less disposable income.



Subsidies are a form of financial assistance from the government to help encourage output or supply, by reducing the costs of production. Hence, subsidies shift the supply curve of a product to the right at each price level. Subsidies are usually given to producers or providers of goods or services deemed to be beneficial to society, such as the production of agricultural products or the provision of education, training and healthcare services.

[image: image]






[image: ]   Future price expectations



Price acts as a signal to producers to allocate their resources to the production of provision of goods and services with greater profitability. Thus, expectations of price changes in the foreseeable future can shift the supply curve. If sellers expect the demand for their product to increase sharply in the near future (thus causing higher prices), then the firms may choose to increase production in the current time period. For example, if property developers anticipate future price increases, they will seek to increase the supply of housing. Similarly, if producers are concerned about future market conditions deteriorating and causing prices to fall, production would fall. In other words, there would be an inwards (leftwards) shift of the supply curve.





[image: ]   Changes in technology



Advances in technology mean that there can be increased supply of goods and services at every given price level. This is because production becomes more efficient, so the average cost of production almost certainly falls. Hence, the supply curve will shift to the right. For example, e-commerce enables businesses to reach customers from across the world, without the need for a physical outlet. Instead, e-commerce firms can operate 24/7 with reduced costs, such as lower rents and reduced labour costs.





[image: ]   Number of firms



The number of firms in an industry is usually dictated by the size of the market. If the market for a good or service increases, then it is likely that there will be an increase in the number of firms in the industry. For example, the market supply of IB Economics textbooks is much larger than that for IB Philosophy or IB Geography, but much smaller than the market supply of IB History or IB Mathematics. This is because there is a significantly larger market for popular or compulsory subjects, so there are more textbook publishers who supply resources to these markets. Hence, an increase in the number of firms in a market would shift the supply curve outwards to the right. Similarly, as the market size for certain products falls (such as CDs, DVDs, newspapers and diesel cars), the number of firms supplying these products also falls.

■ Table 4.1 Causes of a change in market supply




	Increase in supply
	Decrease in supply





	Lower production costs
	Higher production costs



	Introduction or addition of subsidies
	Removal or reduction of subsidies



	Lower indirect taxes
	Higher indirect taxes



	Improved production technologies
	Obsolete technologies



	Technological advances
	Technological breakdowns



	Expectations of higher prices
	Expectations of lower prices



	Increased joint supply
	Lower joint supply



	Lower price of goods in competitive supply
	Higher price of goods in competitive supply



	Larger number of firms in the industry
	Smaller number of firms in the industry






Top tip!

Although the IB Economics syllabus specifies six non-price determinants of supply, other factors can also influence the level of supply, depending on the context of the good or service being considered. For example, important non-price determinants of supply could include time and the weather. Supply tends to be lower in the short run but can increase over time; for example, it is difficult for farmers to increase their supply of crops within a short period of time. The output of some products also depends on the weather, for example, agricultural output. Although these factors are not explicitly examined, it can be useful to be aware that other non-price determinants of supply exist, in order to enhance your critical thinking in economics.

[image: ]





ATL ACTIVITY 4. 2

Investigate the factors that affect the supply of coffee beans.

[image: ]





ATL ACTIVITY 4.3

Investigate how firms such as Apple, Amazon or Google are using technologies such as artificial intelligence (AI) to improve productivity and supply. Be prepared to share your findings in class.











Movements along and shifts of the supply curve (AO2, AO4)



A movement along a supply curve occurs if, and only if, the price of the product changes. This causes a change in the quantity supplied (see Figure 4.13). As with the demand curve (see Chapter 3), there are two types of movements along the supply curve: expansions and contractions.

There is an expansion in supply if price increases (owing to the law of supply). An increase in the price of a product from P1 to P3 causes the quantity supplied to expand from Q1 to Q3. By contrast, there is a contraction in supply if the price of a good or service falls. The fall in price from P1 to P2 causes the quantity supplied to contract from Q1 to Q2.

By comparison, a shift of the supply curve for a good or service is caused by changes in any non-price factor that affects the supply. In other words, there is a change in supply (rather than a change in the quantity supplied). In Figure 4.14, a rightwards shift of the supply curve from S1 to S2 represents an increase in supply. This can be caused by any change in a non-price factor that increases supply, such as lower production costs caused by advances in technology or from government subsidies. By contrast, a leftwards shift of the supply curve from S1 to S3 shows a decrease in supply. This can be caused by changes in non-price factors that reduce supply, such as adverse weather conditions or government taxes imposed on businesses.


[image: ]
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Top tip!

Make sure you can distinguish between shifts and movements. A shift of the supply curve is caused by changes in non-price factors that affect supply (changes in any of the CISTERN factors). A movement along a supply curve is caused only by changes in the price of the product.





Common mistake

‘Supply theory states that higher sprices lead to more supply and that lower prices lead to less supply.’

Remember the difference between changes in supply and changes in the quantity supplied. A movement along a supply curve is caused by changes in the price of the product, resulting in changes in the quantity supplied. A shift in the supply curve is caused by changes in non-price factors that affect demand, resulting in changes in supply. Therefore, higher prices lead to an increase in the quantity supplied, rather than an increase in supply (or more supply).




Common mistake

Students often claim that the imposition of a sales tax on a product shifts its demand curve to the left. This is incorrect as the tax is imposed on firms, thereby raising their costs of production. The tax increases the price of the product so therefore reduces the quantity demanded. In other words, it causes a movement along the demand curve.




PAPER 1 EXAM PRACTICE QUESTION 4.1

Explain the difference between a shift of the supply curve for a product and a movement along the supply of the product.

[10 marks]




PAPER 1 EXAM PRACTICE QUESTION 4.2

Explain two factors which can cause a firm’s supply curve to shift to the left.

[10 marks]




ATL ACTIVITY 4.4

For each of the questions below, use an appropriate and fully labelled diagram to outline the impact on the market for laptop computers:

a   The approval of a per unit subsidy on laptops bought for educational purposes.

b   A new government directive requiring new software to be installed on all new laptops to combat piracy and to prevent illegal online activities.

c   A 15 per cent government tax imposed on the sale of all foreign laptops.

d   An increase in the average wage rate of those working in factories that manufacture laptops.

e   An increase in interest rates (think carefully about this one!).




WISE ChoICES

Examine how the concepts of scarcity and sustainability affect the supply of a product of your choice.




ATL ACTIVITY 4.5

Use an appropriate and fully labelled diagram to explain how the following changes affect the supply or the quantity supplied in each of the following scenarios:

a  Droughts across regions of India destroy vegetable crops.

b  Investment in new technologies at Tata Motors.

c  The Indian government subsidizes the output of hybrid vehicles.

d  India increases the tax on cigarettes by 40 per cent.




Chapter summary

[image: ]   The law of supply states that as the price of a good or service increases, firms will supply more of the product, ceteris paribus.

[image: ]   The supply curve for a product is shown diagrammatically by an upward sloping line, depicting the law of supply. In other words it has a positive slope owing to the positive correlation between price and quantity supplied.

[image: ]   A higher price creates greater incentives for existing firms to increase output and for new firms to enter the market.

[image: ]   There are two key assumptions behind the law of supply: the law of diminishing marginal returns (DMR) and increasing marginal costs. (HL only)

[image: ]   The law of diminishing marginal returns (DMR) states that employing extra variable factors of production (such as labour) eventually causes the marginal returns (additional output) to diminish. (HL only)

[image: ]   Diminishing marginal returns occur in the short run, when at least one factor of production is fixed. (HL only)

[image: ]   Higher production costs, caused by diminishing marginal returns, mean that firms require a higher price to have an incentive to produce more. (HL only)

[image: ]   Firms need to sell their additional output at a higher price in order to cover the higher marginal costs of production, due to diminishing marginal returns. (HL only)

[image: ]   The supply curve for a product is shown diagrammatically by an upward sloping linear line, with price on the y-axis and the quantity supplied on the x-axis.

[image: ]   The market supply curve is the sum of all individual supply of a product at each price level.

[image: ]   Non-price factors that affect supply can be remembered by CISTERN: changes in costs of production; indirect taxes; subsidies; technology; expectations of future prices; related products (joint supply and competitive supply); and the number of firms.

[image: ]   A movement along a supply curve occurs if the price changes, causing a change in the quantity supplied. There is an expansion in supply if price of a good or service increases (owing to the law of supply), and a contraction in supply if the price falls.

[image: ]   A change in supply occurs when the supply curve shifts, caused by a change in a non-price factor affecting supply. An increase in supply in shown by an outwards shift of the supply curve, whereas a decrease in supply is shown by an inwards shift.
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Well-being — economic well-being is about the level of economic prosperity and quality of life
(standards of living) in the economy. Economic agents interact with each other in order to
improve their economic well-being. The choices made by economic agents have both positive
and economic consequences on individuals and societies, thus affecting their relative economic
well-being.

v

Interdependence - this refers to the growing interaction and reliance on others in order to
achieve economic goals, because individuals and societies are not self-sufficient in a rapidly
changing world. As economics is the study of how individuals and societies work together to
satisfy their unlimited wants with the world’s limited resources, interdependency is an essential
concept in the subject. Globalization has led to a highly interdependent economic world, so
decisions made in one part of the world have economic consequences for individuals and firms
in other locations.

v

Scarcity - this concept is central to the study of economics, namely that resources are scarce
(finite or limited in supply) relative to the infinite (unlimited) needs and wants of individuals and
societies. It means there is an inadequate amount or shortage of resources in the economy.
Hence, rational economic choices are made when addressing the basic economic questions of
what, how, and for whom production should take place.

¥

Efficiency - this refers to how well things are done, determined by the input-output ratio, i.e.
the input of scarce factor resources to generate the output of goods and services in order to
meet the infinite needs and wants of individuals and societies. Hence, efficiency is a quantifiable
concept in economics. Efficiency generates a socially optimum level of output of goods and
services in the economy, thus improving economic well-being.

v

Choice — economics is essentially the study of choice due to finite resources and infinite wants
of individuals and societies. Hence, economic agents have to make choices, thus giving rise to
opportunity costs. Economists study the opportunity costs and consequences of choice at the
microeconomic, macroeconomic and global level. Essentially, economics is about making wise
choices, due to the central concept of scarcity. In general, these choices are made in an efficient
and sustainable way.

v

Intervention - this refers to the roles and responsibilities of governments in terms of monitoring and
regulating the behaviour of the workings of different markets in the private sector. It involves public
sector involvement when markets fail to achieve an efficient allocation of scare resources (from
society’s point of view), thus jeopardizing economic well-being, efficiency, equity and sustainability.

v

Change - economic change is inevitable, and the economic world is continually evolving, so
eeconomic agents need to be aware of change and thus adapt their thinking. In this discipline,
change can be brought about by institutional, structural, technological, economic and social factors.
Hence, an understanding of change as a concept is essential to the understanding of the subject.

[

Equity — this concept is about the idea of perceived fairness. The very nature of fairness is
subjective, so is an aspect of normative economics, because what is deemed fair by an individual,
firm or government might not necessarily be the case for other stakeholders. It is about the
challenges faced by individuals and societies in terms of fair access to the world’s scarce
resources. As a normative concept, equity means different things to different individuals and
societies but enables economists to explore significant global issues.

[

Sustainability — from the perspective of economists, sustainability is about meeting the needs
and wants of the current generation without jeopardizing those of future generations. It is about
the ways in which economic activity impacts the natural environment and the world’s scarce
resources. Hence, sustainability is about intergenerational equity. As we strive for economic
well-being and prosperity, much damage has been done to the Earth'’s scarce resources, and
hence, sustainability is of growing importance to the global economy.
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